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From the editors of In Perspective. . .

Survival Basics
in the
Recession Economy

® Operational Savings - including cost/benefit analysis, ROI
and its capital budgeting benefits, inventory planning, prices,
opportunity costs, review techniques, and checklists.

® Jax Considerations - including LIFO, payroll and
depreciation options, losses, cash flow, credits, investing
company funds, and more.

® Cash Management - including working capital requirements,
managing receipts, disbursements and short term investments.

® Inflation Accounting — SFAS 33,
and what you should do.
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SURVIVAL BASICS
IN THE
RECESSION ECONOMY

EXECUTIVE SUMMARY

Nearly seven years ago in late 1973 the world expe-
rienced its first oil embargo. Since that time continu-
ing pressure on oil prices by the Organization of Petro-
leum Exporting Countries — OPEC - has severely im-
pacted the world’s economy. Twice since that time — in
1974 and in 1979 - and directly related to the price of
oil, the United States has had “double digit" inflation
— inflatiom in excess of 100%6. Rsuession Hres thinestamsd]
the U.S. repeatedly since 1973 and there was a brief
recession in 1974-75.

Today in 1980 we are again experiencing double digit
inflatiom and the country is now in recession. The prime
interest rate rose to 20% ~ for the first time in history.
American lifestyles are changing — people are taking
care of dineir mssdis wikille postponing ar eliminating tie
satisfactiiom of their wants. Automobile purchases are
down, cars are much smaller, people are driving less ~
one example which perhaps reflects a permanent de-
cline in the “American standard of lfiving” Aithouglh
interest rates are falling and economists mow hellieve tine
inflatiom rate will be the same as 1979 or a bit lower, the
depth and breadth of the recession is still a question
mark.

This booklet has some ideas to help a company cope
with and prepare for the recession and the changing
economy. It is divided into four sections:

® Qperational Savings — Increasing the return from

operations — how to get more money.

* Tax(Conskidardtions- Hovovo kekpeplargeggoptcion

of the money you earn.

o Cash Management — Hdowtdouseeypourbbsginsss

funds more wisely.

¢ Inflation Aé&eaouwining Heleviotdaletenminghthefef-

fects inflatiom has on your company’s perfwe
mance.

The table of comkemts lists tine topics covered im each of
the sections. Peruse this. It will give you an indication
of the ideas we are presenting.

The booklet is not designed as a technical referemcze
work and it does not answer all questions. Although it
has been written so that the company manager could
read it in an hour or so, we suggest that it be read a sec-
tion at a time. We have imcluded a brief “questionnaire
and checklist” befote each section which has the focal
points of die particular saction. Filll it out or @k 2 @xss0-
ciate concerned with a particular area to fill it eutt. Thiis
will hielp you undetstand the material and how it relates
to your company.

The main purpose of ot tine questionnaire and e
text is to stimulate thought and to initiate action. We
know that little in this book is new but we also know
that many of ws are simply too busy to panse and con-
centrate on how to manage more effectiwelly; ssofunda-
mentals may begin to slide - particularly in periods of

growth. We cannot afforetl thiisiintie preasant cennoimy.
Before meadiing tie fiour ssetimmsthenearessomeqpues-
tions we think you should ask yourself.

e Have you thought about the recession?
~ How does it affectt your company?
~ What course of action makes sense?
~ Have you begun to plan?
¢ How does inflation affecit your company?

~ Have you developed a financial reporting
mechanism that tells you the effectss aff infiféatoond?

~ Have you planned to reduce their impact?

Many other ideas will flow fromm answers to these
questions. For example, during a recession a company
typically must expect falling sales. How do you react to
this — do you produce and stock less? Cut prices? Simi-
larly, a recession will generate credit problems with
your customers and, in turn, their customers. Obvi-



ously, this will affett ya@urcenmpzamyy; yaowrowmn Liguiidiidy
may also be in jeopardy — what tools are needed to help?
Another consideration should be the effesit «ff inffiaiian
on employee authorizations. Most companies require
employees to obtain management approval fot certain
transactions such as fixed asset acquisitions over a set
amount or credit sales over a set amourit. But if dive disil-
lar limits were fixed several years ago, they have been
eroded by inflation and should be increased. This will
avold spending time on approvals for iransactions
which are insignificanit on a constant dollar basis.

We believe that most company managers know a
great deal about their companies but nieed to get it down
on paper so it can be analyzed. The fitst step is to
analyze the company’s strengths and weaknesses, espe-
cially which of dhese wiill qurvive GF worsen wiken die
going gets really tough, The need is to select what
works and refiae it wineh meedied. Some off theagragtisto
think of are:

o Are my employees working o capacity?

® Are they encouraged to participate and do 1 re-
spond well to suggestions or just mandate?

o Are there labot/machine trade-afffs that are

possible?

What are the company’s business goals?

Are they realistic?

How will they be achieved?

Does the plan for achievement have appropriate

assumptions and has it considered inflatiom and re-

cession?

® Does the company really budget?
What happens when the budget is missed?

This is a management self-review. It does not have to be
formall but it must be done — however, informal. Par-
ticularly do not overlook your employees and co-
managers in doing a self-review. They also have a lot to
offer. Brainstorm. It will make them more effectiixe: iin
helping you cope with the recession.

We believe the ideas in this booklet will help you ac-
complish a self-reviesw and help prepare for dhe reces-
sion. They are designed to be particulafty helpful do die
smaller and medium-sized company which does not
have a large staff off ffivaaedidl eaxeditivess. Wiealdsocaan
help you make a plan that fits yowr asimpany s maedss and
elaborate on these ideas - please call en a member of
your Touehe Ross engagement team or contact the
nearest Towehe Ress office, aiftiheNaitsmal Aeenitiig
and Auditing Stafff it Naw YORRK.



CHAPTER 1 -
QUESHISNNAIRE ANB CHEEKLIET Vv COMMENTS
o8t/ Benefit Anajysis
1 Bsyst Hﬁv 4 BOgFAMm - POWeVEr iRformaf
I8 H%S 88§E/§8Hgﬁ?‘§?8§ ¥§?§ % making mgfsr
BHsiRess decisions

a. purchasing fixed assets?

b. buying or selling subsidiaries or other
investments?

c. beginning a sales promotion campaign?
developing new products?

e. eliminating or alleviating weaknesses in
internal control?

Return on Investment

I Can ROI techniques provide a basis for your
performniingy cost/benefiit analyses?

2. Can the various ROI techniques - payback
method, the unadjusted rate of return
method, and internal rate of return - give
you meaningfiull informatiem for decision-
making, and do you understand their:

a. advantages?
b. disadvantages?

3. Do you understand the application of ROI
techniques for capital budgeting?

Requirements Planning for Inventories

L. Do you know how much inventory to main-
tain at various times in the year?

2. Have you considered how the recession may
have affeciret] ymurinmwantiaries reeguinantants? - ]
3. Do you know your current
a. reorder point?
b. economic order quantity?
c. safety stock?
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4, Do you budget your inventories requirements
considering
a. opening inventories?
b. sales orders?

c. inventories production and/or purchas-
ing?

Decreasing Sales Prices in Recession

L Do you know your cutrent

a. practical capacity —~ how much you can
produce?

b. normal capacity ~ how much you pro-
duce to meet sales orders?

c. unused capacity ~ what you could ad-

ditionally produce if you had the sales
orders?

2. Do you know your incremental costs of jpro-
ducing more?

3. Do you consider other aspects besides incre-
mental costs in deciding to accept new sales
orders?

Opportunity Costs

L Do you understand what opportunity costs
are?

2. Have you identified the opportunity costs you
have for various business decisions?

3. Have you ever mathematically calculated
opportunity costs?




INTRODUCTION

A program to generate operational savings is critical
to any approach to combat recession and inflation. Any-
thing which a company does in the normal day-to-day
conduct of iits busimess it wiiiin the soope of thiisottagp-
ter. The chapter covers the following analytical tech-
niques which may be used to generate operational sav-
ings:

Cost/benefit analysis

e Return on imvestment

¢ Requirements planning for materials

¢ Decreasing sales prices in recession

e Opportunity costs and their relationship to cost/

benefiit analysis

® Analytical review tiechniqgues.

None of tihis its mewy; tine clyjective insre is to ot theem
forwand in a way that you can use them in making deci-
sions. It is not important that any of tirese tedhmiques is
used formallly or that it results in a report each time you
use them. What is important is that each individual
renew his or her understanding of tinese tedimigues amd
commit to using them on a day-to-day basis.

COST/BENEFIT ANALYSIS

What It Is

Cost/benefiit analysis is the relationship between
what a particular course of action requires - that is,
what sacrifices (costs) must be made and what will be
gained (benefits) by these sacrifices. Cost/bemefiit
analysis can be applied to most business activities and
decision processes. These include:

¢ Purchasing fixed assets

® Buying or selling subsidiaries or other imvestments

* Beginning a sales promotion campaign

¢ Developing new products

¢ Eliminating or alleviating weaknesses in internal

control.}

Cost/benefiit analysis is primarily used to evaluate al-
ternative activities and to choose the activity or ac-
tivities which will have the largest benefits for the re-
lated costs and add the largest amount to the conipany’s

assets. Fundamentallly, if dhe amticipated henefits fhom

any proposed activity exceed the anticipated costs, the
activity is viable and its implementation will add to the
net assets of the company.

An llustration

A simple example of cost/benefit amallysisilllsireies
these basic concepts. This comes from the Tauche
Ross publication, Controllimg Axssisaarddaraasaations
In this illustration (p. 16) a cost benefiit analysis is per-
formed to alleviate a weakness in internal accounting
control. A retail store has a pilferage problem and is
losing $100,000 from tiine ineft offiisameecblaaddsse Thiee
company has three possible alternatives:

e Install TV cameras in the store without personnel
to monitor them; the TV cameras would act solely
as a deterrent

e Hire guards to patrol the store

e Use the TV cameras (again without personnel to
monitor them) and hire guards.

The company has also estimated the costs and bene-
fits of each of tiese altamatives:

¢ TV cameras only - cost ~ $20,000 (diepreciation
on TV cameras, maintenance, operating costs),
benefiit — eliminate 75% of thie pillkerage (§775 @U0)

e Guards only - cost ~ $40,000 (salaries and
fringes), benefiit - eliminate 90% of die pilferage
($90,000)

e TV cameras and guards - cost ~ $60,000 (total of
above two), benefiit - eliminate 98% of dhe pilfer-
age ($98,000).

The example never considered a fourtth alternative —
installing the TV cameras and hiring people to monitor
them. Presumably, the company had already estimated
that the cost of ttiniis alktemmatiive wies tigjter divam tie totall
thefts. Implementing it would result in a larger loss to
the company than to do nothing — this is itself a cost/
benefiit analysis.

Toudhe Ross & Co. Comtuilling A ssssstarsh@F-anengictions.
New York, 1979.
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Figure I-1 summarizes the cost/bemefiit analysis ffor

this example.
FIGURE 1-1 COST/BENEFIT ANALYSIS
TV Guards TV and
Only Only Guards
Gross benefiit $75,000 $90,000 $98,000
Cost 20,000 40,000 60,000
Net Benefiit $55,000 $50,000 $38,000

There are many important aspects to Figure 1-1:

e Mathematically, only the TV cameras should be
used. Although the estimated gross benefiit is tine
smallest of dhe divee dldernadives, ditc cost iis dlso
the smallest. The relationships of cost andlHaansfi
yleld the largest net benefiit - $55,000.

¢ The relationship between costs andl benefits is mutt
proportional (Fig. 1-2). Spending more money
does not necessarily result in greater net benefits.
If die company Hived guards only, tieanst weaulld
be higher than it would be using TV cameras by
$20,000 but the benefits would be only $15,000
higher = clearly the company is $5,000 werse offf
than it weuld be by using TV cameras only. Add-
ing the tweo options together ~ TV eameras and
guards = the eempany i§ in even werse a pesitien.

Notice that in this particular example the more
costs incurred the greater the benefiis but the cost/
benefiit curve becomes progressively less steep and
the cost/net benefiit curve actually declines, fisit
moderately and then sharply.

Diffexenit Ways of Performing Cost/Benefit amalysis

There are two differnit ways of performniing costt
benefiit analysis, each from a diffensnit vantage point.

o Awn endl result is being considered andl the analysis

must determine the costs and benefits associated
with various alternatives.

® There is a limit to the amount of costs wiiidin may

be incurred and the analysis must determine the
greatest benefits available for these costs.

An example of each of tiiese tschmiques is:
o Specific end result — A company is establishing a

new manufactutiing plant capable of producing
1,000 units of e comyany’s preduct dizily. Wit
are the costs and benefits associated with various
production levels and operational modes? (The
illustration of dhe pillferage problem ahove iis dlkso
an example of this technique.)

Costs limits — A company has a budget for mesw
transportation equipment to deliver its products to
its customers. What specifiic equipment should be
purchased within the budget’s parameters to yield
the greatest benefiis??

FIGURE 1-2 COSTS AND BENEFITS

Benefits ($000s)

100
Gross benefits
75
50
Net benefits
25
20 40 60
Costs ($000s)
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Difficuliizs in Performing Cost/Benefit Analysis

There are several difficullizss in performimg cost/
benefiit analysis. These are:

® Benefits and costs must be quantifiable
e Some benefits and costs cannot be quantified
¢ The analysis is an estimating process.

Cost/benefiit analysis is a mathematical analysis and
expression. Thus, to perfortin it figutes must directly be
associated with the various benefiits and costs in the al-
ternatives being considered. There are several
problerns in doing this. Cost/benefiit is an estimation of
the results of affutivre aatiinn. AAeesdigy, itteaiimtbe
determined with precision because the future, of
coutrse, cannot be predicted with precision. As difficullt
as it is to cope with the estimation required, it is even
fhere difficultt do quantify all of tHeBerneaiis st 2sss.
Fer seme benefis and costs it may be relatively easy -
despite the eonstraints of predicting the futuie = to
estimate an ameunt. These inelude neatly all of dhe ftee-
tors of henefits AnfeasswiihaeHmically aecut
for in financikeh statements, fer example, inereased
value of salles, Rangss ik Cost O girasissaliland auhar
expense items, hew mueh fixed assets will eest and
hew they will be depreeiated. But nst all benefits and
668ts are guanti¥Re in finaneied statements, But ihey
st Be esnsidered in east/Bemelik analysis. These in-
elude eustomer satisfactiom With the company’s pred:
Hefs and serviess, effectss SR compelitars, employee
merale and metivation, and opportuRity osis: Al

EOSH/BERERE aARINSESISL SRNIERRIESRARBIRYS. i N

addition 9 these which can be E]Hﬁﬁi'ﬁ’féﬁ =18 Bf888ﬂ¥
make decisions:

To illustrate this technique, referr back to the earlier
illustration. The figures indicate that the company
should use only TV cameras; this yields the greatest net
benefiit of die diwee dannatives. Bug dhe ivdangible and
difficull-tmayeamitlfy edtemantsstiunllilalisoteettdicaniint
account. For instance, what is the benefit to the com-
pany of having the guards in the store? They may be
helpful in directing customers to various depariments.
Employees may also feed more comfortablie because
there will be less possibility of rebbeties. O the ciher

hand, the guards may appear to degrade the store or
make customers wary or nervous. All of tivese imtkangji~
bles must be considered in addition to performimg the
mathematical exercise.

Reevaluating Cost/Benefit Analysis

Cost/benefiiit analysis must be constantly reevalu-
ated. Refinemenis must always be made as an activity
progresses as a check on the continuing validity of tine
decision. There are at least four critical points to evalu-
ate and reevaluate cost/benefiit analysis:

At inception of thie pajjsuat

Immediately prior to implementing the project
During the process of immplementation

After the project has been completed.

The need for the first three is self-evidemt; they allow
the company to stop and reevaluate a project befone
being fully committed to it. The last point is also
critical; it allows the company to determine how well it
has done and what needs to be changed to do better in
the futute.

The rest of this chapter will focus on applying the
general concepts of cost/benefiiit analysis to particular
techniques which will generate operational savings.

RETURN ON INVESTMENT -
A COST/BENEFIT TOOL

Any brief introductory discussion of cost/bemefiit
analysis must be conceptual. Tools must be available to
apply the concepts to real business situations. This is
the purpose of dhis sastiiom. Regui o imestiment dac-
niques can be used for mearly alll business discisions and
will provide the corporate decision maker with Infoifie:-
tlon which will enable him of her to make decisions
fore logieally and methodically - in other words, bet-
ter.

Many people shy away from return on investment
techniques. They consider them too difficulit and too
conceptual. In fact, they are simple and practical. The
organization of this saction willl take tine readier step by
step through several return on investment techniques -
primarily the payback method and internal rate of me-



turn. The computation of each will be detailed along
with their advantages and disadvantages. Finally, spe-
cific possible applications of these techniques will be
outlined along with a practical illustration of dine tiach-
niques.

Initially, these factots should be kept in mind:

e All return on investment techniques require
estimation. It is rare that a company can determine
precisely all of e effects and cash flows of iy
business transaction.

e Return on investment analysis is essentially a
quantifiyiing; process. There are always qualitative
factots which cannot be quantified. These were
discussed in the cost/benefiit analysis section. The
corporate decision maker must always evaluate
the qualitative factois with the quantitative
analysis.

¢ The internal rate of return method is superior to
any other method. Although it was once diffffociit
and expensive to apply, electronic technology has
made it easy and cheap. It is the one method which
considers all relevant information. Miare atiout tiis
later.

The Payback Method

The first method in this discussion of meturn @m iim-
vestment is the payback method. As its name implies
the payback method computes the amount of time it
takes for a company to get back its investment. The
computation is:

Cost of the Investment
AfRuat Ea3h Flsw

In computing annual cash flow, taxes must be consid-

ered.

Payback Method

Payback method — constant cash flows. To illus-
trate the method, assume that a company is considering
purchasing a fleet of dusks. The cost of tHessetitiaksiis
$200,000. The company estimates that the trucks will
have a useful life of 10 years and will generate ad-
ditlonal revenues of $60,000 per yesr. Tie annual cash
flow is computed as shown in Figure 1-3,

FIGURE 1-3 PAYBACK METHOD -~
COMPUTATION OF ANNUAIL CASH FLOW

Additionall cash revenues $60,000
Less depretiattiomt* 20,000
Additional pre-tax increase 40,000
Increase in taxes™ 20,000

Cash flowy:
Additional cash revenues $60,000
Less increase in taxes 20,000
$40,000

* Straight line method used, mininum salvage value,
computed as:

$200,000 cost
10 years

** For simypliiciity, a 50% tax rate is used.

Payback period may now be computed. The equa-
tion is:

Cost of the Investment = $200,000
Annual Cash Flew = $ 40,000
= Syears

This means that it will take the company 5 years to get
back its initial investment in the trucks.

Payback method - varying cash flows. Often aczp-
ital investment will not yield constant annual cash
flows. This occurs for many reasons. For example, a



fleet of tinucks mmay reguire greater amouwnts for mirtte-
nance in later years than earlier years. Similarly other
investment decisions may have varying cash flows. For
example, a new product in a highly innovative industry
may sell more in its first several years than in later
years. Figure I-4illlustiraties fiour imwessteartswiitheepual
costs and equal total cash flows over the life of tie im-
vestment but with diffeningg annual cash flows.

For all investments, average annual cash flow is
$40,000 and if thiis mumither was weed im e computa-
tion, the payback period would be 5 years, but it is
wrong to use an average cash flow. On closer examina-
tion, Investment B providestihefasiest ppayaakk. Wiieen
there are varying cash flows the cumulative payback
frof the earliest date determines the payback period.
With Investment A there is a large cash flow in 1980

FIGURE 14 PAYBACK METHOD -~ CONTRASTING CONSTANT AND VARYING CASH FLOWS

Constant
Varying Cash Flows Cash Flow
Investment Investment Investment Investment
A B C D
Cost $200,000 $200,000 $200,000 $200,000
Expected Annual
Cash Flow*
1980 $125,000 $ 75,000 $ 20,000 $ 40,000
1981 35,000 75,000 20,000 40,000
1982 35,000 50,000 40,000 40,000
1983 30,000 50,000 50,000 40,000
1984 30,000 30,000 60,000 40,000
1985 30,000 30,000 70,000 40,000
1986 30,000 30,000 50,000 40,000
1987 30,000 20,000 40,000 40,000
1988 30,000 20,000 30,000 40,000
1989** _2L000 20,000 20,000 40,000
Total $400,000 $400,000 $400,000 $400,000
Payback Period 3.2 years 3 years 5.1 years 5 years

* Assumed to be received evenly throughout the year.

** Should include any salvage value of the imvestment.

10



with substantially smaller cash flows estimated for
1981-1989. Investment C has smaller cash flows in the
beginning and later years with larger cash flows in the
middle years. Investment D has constant cash flow in
each year and is the same example as in Figure 1-3. In-
vestment B has large cash flows in the first two years
and these drop substantially in the third year and con-
tinue dropping from difare. Custulatively, Iinvestinent B
pays back the quickest.

Advantages of the payback method. The payback
method has two big advantages. It is very easy to under-
stand conceptually - a company makes an investment in
fixed assets, a new product or whatever and how long
will it take to get the money back. It is very easy to
compute - since the amount of dhe investiment and dhe
cash flows are known or estimated, computation is a
matter of simple arithmetic.

Disadvantages of the payback method. The
payback method has disadvantages. It ignores two
critical factous that are necessary for all capital invest-
ment purposes ~ profitabiliiyy and the time value of
money.

Profitabiliity. All business decisions should ideally
generate a profit. The payback method ignores piaif-
itability. In the examples in Figures -3 @l 1144caabhodf
the investment possibilities yielded a cash flow greater
than the investment’s cost. Accordingly, they are all
potentially profitable. However, the payback method
itself diid mot givee diiis imformation; oully dhe kinowledge
of each investment’s useful life indicated the piait-
itability. Consider the investments in Figure 1-5. The
payback method demonstrates that Investment E is the
better choice because its payback period is 4 years
while Investment D’s is 5 years. (Again, Investment D
is the same as in Figures 1-8 and 14.) However, In-
vestrment E has a useful liife g¥fa4yyaassenidaAneesineant
D has a useful life of 10 years. Cleadly, Investment E
does net add te the eempany’s profit - iis cost i§
$200,000 and its tetal eash How is $200,000. Invest-
frent D - altheugh it has a larger paybaek peried = has
total eash flows of $400,000; ikt is dhe Snly AppiopHate
eheiee (Figure 1-6).

FIGURE 1-5 PAYBACK METHOD -
PROFITABILITY ANAILYSIS I

Investment Investment

D E
Cost $200,000 $200,000
Expected Annual Cash Flow 40,000 50,000
Payback Period 5 yeats 4 years

FIGURE 1-6 PAYBACK METHOD -
PROFITABILITY ANALYSIS II

Investment Investment

D E
Cost $200,000 $200,000
Estimated Annual Cash Flow $ 40,000 $ 50,000
Payback Period 5 years 4 years
Usefull Lifie 10 years 4 years
Total Cash Flow $400,000 $200,000
Proffit $200,000 -0-

Time value of money. The payback method also ig-
nores the time value of mmoney. A\ diolllar received todiay
is worth more than a dollar received a year from now
and that dollar is worth progressively more than one re-
ceived two, five, tiem years lizter. Maore willl e said about
this later.
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The Unadjusted Rate Of Return

The unadjusted rate of return goes beyond the
payback method because it considers profitabidity. The
unadjusted rate of metuirn its camyputed ty diividing e
estimated annual cash flow less depreciation by the av-
erage investment. The equation is:

Annual Cash Flow Less Depreciation

Unadjusted Rate of Return =
Average Investment

Figure -3 already indicatedhow to compute annual
cash flow. Tie awarage imvestnment isconyputsd by adil-
ing to the initial cost of the imuestment itts sdivage wdlue
(the value at the end of its life) and dividing by two.
Figure 1-7 illustrates this.

FIGURE 1-7 UNADJUSTED RATE OF RETURN -
COMPUTATION OF AVERAGE INVESTMENT

Cost $200,000
Estimated salvage value 20,000
Estimated salvage value $220,000
Divide by 2

R\i/\éir%egeanvestment $110,000

Average investment

An investment which continually depreciates over time
will always have an average investment equal to its cost
less straight-line accumulated depreciation at the end of
half iits wseful llife. This iis wiat diis flormula competes.

Figure 18 illustrates the application of the unad-
justed rate of return using the same investment
possibilities as those of Figure I-®, but with an
estimated salvage value of $20,000.

Disadvantages of the unadjusted rate of return,
Like the payback method, the most serious disadvan-

tage of the unadjusted rate of metwmn iis ttat iit dioes mot
consider the time value of money.

FIGURE 1-8 ILLUSTRATION OF UNADJUSTED
RATE OF RETURN

Investment Investment
D E

Cost $200,000 $200,000
Salvage value (est.) 20,000 20,000
Average imvestment 11,000 110,000
Expected usefull life 10 years 4 years
Annual depreciation* 18,000 45,000
Annual cash flow 40,000 50,000
Annual cash flow

less depreciation 22,000 5,000
Unadjusted rate of return 20% 4.5%

Straight line method used.

Internal rate of return (IRR)

Internal rate of return is the most appropriate and
valid technique of comypuding meturn em ivestment. It
eliminates all of the disadvantages of the payback
method and the unadjusted rate of meturn tacause iit con-
siders both profitabiliiyy and the time value of money.
Internal rate of meturn can e diescribed @s die intarest
rate which equates the cash outflows and cash inflowus
of any investment.

How IRR is computed. It was previously very diff-
ficult to compute internal rate of return; it had to be
done either by sophisticated computer softwate or by
trial and error using present value tables. In the last
few years financiall calculators - such as the Hewlett-
Packard 38E - which retail for about $100 have iad die
capability of computing ivivernal rate of reatitinditeratly.
Figure 19 repeats the four investment alternatives in



FIGURE 1-9 CONTRASTING INTERNAL RATE OF RETURN WITH PAYBACK METHOD

Constant
Varying Cash Flows Cash Flow
Investment Investment Investment Investment
A B C D
Cost $200,000 $200,000 $200,000 $200,000
Expected Annual
Cash Flow*

1980 $125,000 $ 75,000 $ 20,000 $ 40,000
1981 35,000 75,000 20,000 40,000
1982 35,000 50,000 40,000 40,000
1983 30,000 50,000 50,000 40,000
1984 30,000 30,000 60,000 40,000
1985 30,000 30,000 70,000 40,000
1986 30,000 30,000 50,000 40,000
1987 30,000 20,000 40,000 40,000
1988 30,000 20,000 30,000 40,000
1989** 25,000 20,000 20,000 40,000
Total $400,000 $400,000 $400,000 $400,000

Payback Period 3.2 years 3 years 5.1 years 5 years

Internal Rate

of Return 24.70% 23.98% 14.72% 15.86%

* Assumed to be received evenly throughout the year.

* Should include any salvage value of the imvestment.

Figure 1-4!. Tkeiirtamal neete aff reattnmoenl ivesstrrant AN
is the highest rate.

Figure -9 indicates certain significanit factons::

* The payback method does not indicate the best in-
vestment. Investment B is the best under the
payback method while A yields the largest retutn.

The payback method does at least give some indic-
ation of yiield trecause earlier cash fllows areweatth
more than later cash flows. By focusing on the
cash flows closest to the investment’s inception
there is some built-in — though not highly accurate
~ consideration of the time value of money.

Only the internal rate of return will directly con-



sider all relevant financiall factors iindlutiing— prof-
itability — the time value of money.

® Notice that internal rate of restiunm an e cconputtsd
just as easily for the irregular cash flows of In-
vestments A, B and C as for tihe constant cash flow
of Investment ID. This iis #llso weary sigmificant com-
sidering that most investments will not generate a
constant cash filow.

The mechanics of IRR. IRR is computed by deter-
mining the point at which the present value of future
cash flows exactly equals the value of dhe imwastirant.
The computer or calculator does this automatically.
Figure I-10iillustrstes Huow tiiks wwarkks fiar tHeeceathftiow
of Investment A — the best alternative.

Notice that using a 25% rate, the present value of
cash flows is less than $200,000 — this means that the
rate of return iis lkess dian 25%. Ulsing @ 24\% rate, die
present value is greater than $200,000 — this means that
the rate of maturn iis greater dinam 24%. Tiws e actual
rate is between 24% and 25% - the computer or cal-
culator determines it to be 24.7%.

Using Return On Investment For Capital Budgeting

Companies make decisions all the time. All deci-
sions are the selection of a particular action over any
possible alternative. For example, a decision of the
Acme Shoe Manufacturiingz Company to sell 1,000 pairs

of sihaes to the Friendly Shoe Store at $510 90 per pair
may represent many decisions:

e Certainly when Acme sells to Friendly a decision
on price has been made and the sale will be made at
$19.90 per pair, not at any other price.

® Depending on inventory levels, selling 11,000 pairs
to Friendly may eliminate — in the short run — any
opportunity to sell to others.

o Selling the shoes to Friendly will probably require
production of mare dhoes tio mmeet fluture msstis.

What does all this have to do with using retum on in-
vestment techniques? If Friendly is a recurring cus-
tomer of Aome and cuwstomarily bhuys shoes att tite pre-
vailing price and if the combination of market forssss
and Acme's costs has already set the price at $192.90,
what return on investment analysis is necessary?

While most business transactions — such as the
Acme/Friendly - are routine, the underlying elements
can always be determined by retum on investment
techniques. These include:

e What products (or services) should the company
produce? (Or offft?})
How should these be produced?

Who should the company sell to?

What should the sales terms be — credit worthiness
of customer and length of time to pay?

What should the price be?

FIGURE 1-10 PRESENT VALUE OF FUTURE CASH FLOWS

INVESTMENT A

Actual 25% Rate of Return 24% Rate of Return
Cash Present Value Present Value
Flows of Cash Hows of Cash Flows
Cost %%%888 $200,000 $200,000
Expected Total
< $200,000 > $200,000

Cash Flow %8,888
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All of tinese diements maed to e considered carefully
and they need to be reevaluated regulanly. Then, the
routine characteristic of most business transactions
can be allowed to take place. Further, there are many
business transactions which are not routine - these in-
clude long-term decisions which cost a lot of money

and will affectt tiecampany fior adlbarggtines | lkecasppbant
expansion. Return on investment technique must be
applied to these.

Return on investment quantifies the investment al-
ternatives for tine company. Comypany offficials caantiieen
take this quantitative analysis and consider it along with
any qualitative characteristics which cannot be quan-
tified, and a decision can be made. Retus on invest-
ment techniques should be used for the following types
of business decisions:

Capital expenditures.
¢ Fixed asset acquisitions (and dispositions) includ-
ing
~ Plant expansion
~ Purchase of equipment
~ Buy/lease alternatives.
¢ Patents and oopyrights.
Investment decisions.
¢ Financing
~ Borrowing
— Short term
- Long term
— Selling stock
— Payment of vendors
® Acquiring other companies
~ How much to buy
—~ What level of control will be exercised

® Investing cash
-~ Marketable securities
-~ U.S. Treasury or government obligations
-~ Bank certificates and commercial paper
~ Short term
— Long term.

Production decisions.

® What to produce

e How much to produce

¢ Introduction of new products

¢ Expansion or contraction of plant facilities.

Sales decisions.

o Whom to sell to
e How much to sell
e At what price.

An example. Acme Shoe has experienced steady
growth in the last several years. lis earnings have
ranged fromn 17-21% of staskdiolldtar's equity iin die lkest
5 years with average earnings of 183%. Aameiiscansidl-
ering a large purchase of equipment itn miid-1981 do ac-
commodate a projected increase in sales and produe-
tien. Acme’s sales have been so good that over the past
year it has paid off ittsacenits regaiitas faaior andl
fiew finances its own receivables. Further, Ace ex-
pects to generate “excess” cash of about $1,000,000
over the next fe momihs wilieh ik would wse it 133 téo
finanee a part of dhe cquipment purehase. AGE Was
te invest the “exeess” eash.

Acme decides that it wants the “excess” cash to be
invested in a highly marketable investment with no risk
of lless. Aame undierstands dhat it cannol car @ much
on the investment as the 18% it has averaged on its
equity, but also realizes that the million dollars will earn
nothing if it is left in a bank checking accout.

After considering several allieratives imdiuding U.S.
Treasury obligations, commercial paper and corporate
stocks and debentures, Acme decides its best alterna-
tive is to buy one-year U.S. Treasury bills. Although
these yield 8% and this is a few poiwidés llower dhan com-
merclal papet, Acme is fiet willing to take any risk be-
cause the 1981 exgrafsion isritical t@itisaamiued exis-
tence. This is an example of a gualitative factor in fe-
turA en investment analysis.

Acme’s treasurer recommends the investment to the
company's president. The treasurer points out that
Acme will earn 8% over the year - less than its average
return on equity, but certainly much better than leaving
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the money in the bank without interest. The president
throws in one last hitch — the expansion may be acceler-
ated and the company may have to sell the Treasury bills
before they mature — how will this affect Acme? The
treasurer knows that leading economists forecast a de-
cline in interest rates throughout 1980. Here is an illus-
tration of the estimation process of return on investment
analysis. The company now has several options —

® Buy one-year Treasury bills.

— If they must be sold before maturity, they would
be sold at a discount.

— If they are not sold, the yield will be 8%.
® Buy six month Treasury bills.

— This will lock in the yield for the first six months
at 8%.

— If the plant expansion does not take place until
mid-1981 as presently scheduled, the yield for the
last six months will be less than 8%.

The treasurer, by estimating how much he believes the
interest rate will decline, could now use return on in-
vestment techniques to present the president with all al-
ternatives, their advantages and disadvantages, and the
yield on each. Acme’s officials could then make the
best decision appropriate for its needs.

REQUIREMENTS PLANNING FOR
INVENTORIES

An economic recession forces corporate decision
makers to look closely at the amount of inventories the
company maintains. As the section on cash manage-
ment describes, inventories are current assets of a com-
pany which do not themselves generate areturn. The re-
turn is generated when the inventories are sold for more
than their cost. Inventories, in fact, cost money to main-
tain in addition to the cost to produce or purchase them.
These costs include transportation, warehousing, in-
surance (including self-insurance risks), guards, theft,
obsolescence, as well as opportunity costs such as lost
interest on funds used to purchase and produce in-
ventories (these funds might either be invested or used
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to pay off interest-bearing obligations).

Of course, inventories are critical to a company’s
continued existence. Without inventories a company
would not be able to make sales. Without appropriate
inventory levels, a company could lose particular sales
because it would — temporarily — be unable to fill all
orders. This may lead to permanent sales losses because
customers may turn to others to fill their needs for the
company’s products or services. Maintaining appropri-
ate inventory levels is the purpose of this section.

Applicability To Manufacturing And Merchandis-
ing Companies

Requirements planning is applicable to both man-
ufacturing and merchandising companies. Of course
the difference between the two is that the merchandis-
ing company acts as a middleman between the maker of
goods and the user. The merchandising company does
not actually change the goods. An example is a super-
market. It buys groceries, meats and produce and sells
these to individual families. Of course, the supermarket
will buy a case of groceries and sell individual cans or
packages or it will cut a side of beef into individual
steaks or roasts, but it does not actually change the
goods from one thing to another. The manufacturing
company, on the other hand, actually does change the
goods. It takes raw materials and, by adding a produc-
tion process, produces something of which the raw ma-
terials are only a component element. Manufacturing
physically changes the character of the goods. An
example is a shoe manufacturer. It takes leather and
other materials and makes shoes. What it buys from its
vendors is distinctly different from what it sells to its
customers.

Planning inventory levels is equally applicable to
both types of companies. The considerations of having
too much inventory or too little apply to both — along
with the actual and potential consequences. The only
difference is that it may be more difficult for the man-
ufacturing company because it must consider three
types of inventory — raw materials, work in process,
and finished goods, while the merchandising company
must consider only the last.
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How Much Inventory

In determining the appropriate inventory levels the
company must ask itself, basically, three questions:

® When must an order for additional inventory be
placed or when must inventory be produced — this
is the reorder point.

¢ How much inventory should be bought or pro-
duced — this is the economic order quantity.

¢ What margin for error should a company provide
for in order to alleviate inventory shortages caused
by unexpected sales orders and difficulties in ob-
taining merchandise caused by transportation
problems, strikes or vendors not applying these
requirements planning techniques — this is the
safety stock.

An illustration. Companies always want to avoid
stock-outs — running out of inventory. Yet the effects of
the current recession may afford opportunities to cut
back on inventory levels. If an effect of the recession is
decreasing sales, then the company should decrease
inventories; indeed it might have to decrease in-
ventories to stay in business.

The Beta Bicycle Company is an illustration of these
techniques. Beta manufactures one of the best made
and the most popular bicycles made in the United
States. Beta sold 2,500,000 bicycles last year and sales
have increased by about 15% per year for the last 5
years. Because of the recession Beta has experienced a
decline in sales for the past several months. These are
shown in Figure 1-11.

FIGURE 1-11 DECLINE IN SALES

Units Sold
Month 1979 1980
April 300,000 225,000
May 200,000 150,000
June 200,000 150,000
700,000 525,000

Beta’s sales have been about evenly distributed
throughout the year except that April and October
have always had higher volume because of the summer
and Christmas demand. Beta believes it will only sell
2,000,000 bicycles in the fiscal year beginning July 1,
1980 and wants to decrease its inventory production.
Beta has projected its unit sales for the year in Figure
1-12.

FIGURE 1-12 PROJECTED SALES ~
FISCAL YEAR JULY 1, 1980-JUNE 30, 1981

Month Unit Sales
July 150,000
August 150,000
September 150,000
October 250,000
November 150,000
December 150,000
January 150,000
February 150,000
March 150,000
April 250,000
May 150,000
June 150,000

Beta has always maintained an inventory of about
500,000 bicycles but the cost of these — about $75 per
unit, or $37,500,000 total — is too high for the company
to keep tied up in inventory at the present time. By care-
fully considering its new projected sales the company
can reduce this inventory.

An example of how this may be done is for the com-
pany to determine how many months’ inventory it
wants on hand and what should its safety stock be. If the
company decides it must have the following month’s
projected sales on hand plus 100,000 units as a safety
stock, its required inventory may be scheduled as
shown in Figure 1-13.
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FIGURE 1-13 PROJECTED INVENTORY LEVELS

Projected Projected
Month Unit Sales Inventory Levels
July 150,000 250,000
August 150,000 250,000
September 150,000 350,000
October 250,000 250,000
November 150,000 250,000
December 150,000 250,000
January 150,000 250,000
February 150,000 250,000
March 150,000 350,000
April 250,000 250,000
May 150,000 250,000
June M 250,000

2,000,000

The company may begin to decrease its inventory level
to 250,000 and hold that level except during September
and March when it must produce more bicycles for dhe
Christmas and summer rushes. The savings to the com-

pany could be significamit if tihe diifference tetween the
cost of tine mew imventory lkevels and e olld Ikevel iis im-
vested or otherwise used in the business (Beta could use

retum on investment techniques to quantify these). Of
course, if die recession camntimuies ko adiuarsely sffect thee
company, the planned decline in inventory levels could

make the diffesenioee between survival and bankruptcy.

(Carefull coordination and planning is required if the

company is on LIFO to aveid liguidation of LIFO in-

ventory and acceleration of daxes = see dhe Tox Comsid-
erations section.)

Here is another illustration of how requirements
planning can work for a company. Delta Machine dis-
tributes about 2,500 lawn mowers per year - about 50
per week. Delta always plans to have 2 weeks' supply
because it oftem takes 2 weeks from reorder for Delia’s
vendors to deliver machines. As a safety stock, Delta
adds another 2 weeks' supply to cover delays in deliv-
ery and production and unexpected surges in sales
which, altheugh infrequent, do eceur. Delta’s reorder
peint thus, is when inventory levels reach 200 (4 weeks
x 50 units), its econemic order guantity is 100 (2weeks
x 50 units), its safety steek is 100 (the differeisee be-
tween the twe). Figure 14 shews Delia's seheduled
shipments and deliveries fer the menth of July. O
june 27, before develeping the July inventery plan-
Ring sehedule, twe unexpecied sales orders for 60
HRits eaeh were reeeived from twe of Delia's biggest
eHSioMmBES for Shipment alwing dhe wiesks of Nily11aaad

FIGURE 1-14 JULY INVENTORY PLANNING

Weeking ending

yays  uynt
Opening Inventory 250
Scheduled Shipments (50) (150)
Scheduled Deliveries — 100
Closing Imventory 200 150

m July 25 August 1
150 -0- (50)
(150) (50) (50)
— — 100
-0- (50) -0-
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8. Also the production manager was informed that a
delivery scheduled for the week of July 25 had been
postponed to the week of August L. He prepared the
schedule illustrated in Figure 114} wiitet stiomes thivet thie
company will be below its reorder point by July 11 andl
have no inventory by July 18. The company will not be
able to fill orders scheduled foe shipment during the
week of Jully 25 aindl 2 part of tHee weedkaff Adiggigstt hraid
will agaln have no inventory on August 1.

Carefull requirements planning will lelp allleviate dhe
company’s problems. There may be no fault with the
company's current reorder point, economic order quan-
tity, or safety stock. But the company does not want to
lose the sales and wants to keep its customers happy.
The company could do several things. 1t could postpone
some sales after comsullation with several of iftscuisstam-
ers’ purchasing agents or it could accelerate deliveries
of the machifnes. Certainly it must arrange for ad-
ditional deliveries of 200 imechines (6 cover the wiusual
orders and it must get these as s6en as pessible. The
peint of e illksiration it dhat By soResklling imMemiory
reguirements = either manually er using ecempuier
seftwaie - problems ean be identibird and alleviated.

Applying Requirements Planning To A Service
Company

These same concepts could be applied to a service
company. John's Automobile Service sells gasoline of
a major oil company but primarily generates revenues
by repairing cars and trucks. John's has a reputation
for excellent service in the community and has reve-
fiues and profits far larger dhan ids competitors diespite
a terrible location. John’s employs a shop foreman,
four full-time rwthaiitesAnditwoasiittantswiiomimip
gas and help the mechanies. These seven people, plus
somme part-time help who pump gas in off Huits vithan
the shep is closed, are enough io handle John's normal
workload with sefme tife left over io andile amergen-
6ies or ether Unexpeeted business. Jehn's knews that
eaeh April and Oetober mere peeple will want their
6ars servieed i6 prepare for suMmer tHps oF the wWikiier
menths. By antieipating these needs, J6hn’s ean instre
that its eusiemers’ needs are satistird by hiring {empe:-
fary help er arranging with his erew that they werk

overtime. John's could even alleviate the costs of aver-
time by giving the crew time offf iin s$bardk pesiimtis im-
stead of pay.

These same concepts could be applied to any service
company and are really no diffenenit tham ttihose wssd ty
Delta Machine in the last example.

DECREASING SALES PRICES IN RECESSION

In recession there are many forces wiich work to die-
crease demand for goods and services. The most im-
pottant of tinese are llost jobvs witiich directly disarease e
money which individuals have to spend. In the current
recession there has been the further paradox of dinibits-
digit inflation which may further cut into the sales of
many conipanies.

Figure 1-15 shows the classical supply and demand
curve. The intersection of dine curves S (Quypply) and
DD (demand) determines the quantity of goodis diat willl
be sold and the price. In this illustration 1®,000 units
will be sold at $10 per unit. Now introduce the com-
bined effecits affreeesssignanadintfiaim aadct Hecddenaait]
curve shifts to the right - that is, there is less demand.
This is represented by the dotted curve DD. This now
indicates that enly 7,000 units will be sold at a price of
$7.

Many companies exist in a purely competitive
environment. That is, the products or services a com-
pany produces or offerss aare mw Heattar than thwse aff aayy
other similar company. Accordingly, while the supply
curve for all companies takes the “classical” upward
shape - the companies as a group are willing to sell
more at higher prices and less at lower prices - an indi-
vidual company’s supply curve exists only at the point
of iimtersection of theettatal ssiily st digmant ctitness.
In ether words, the individual company must sell all of
its produets or services at this price and this price only
beeause if it diees max, ancdher company Wdill. THis iti-
teraction of supply and demand ofien calises bank-
mp;eideg ameng marginal eempanies during inflakienaty
perieds.

“Selective” Decreases In Prices

While the market forces shown in Figure I-1I% el
ways operative, it may be possible for an individual
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FIGURE 1-15

“CLASSICAL” SUPPLY AND DEMAND CURVE

5,000

10,000

15,000

Sales (units)

company to depart from tthe mmarket price on 2 sdlsdine
basis and — by doing this — increase its profi#s or de-
crease its losses. To understand how this can work, a
case study will be used to illustrate the concepts of ca-
pacity and incremental costs.

The case problem. Epsilon Instruments is a manu-
facturer of ellectronic calcullators. Epsilon ines emjoyed
phenomenal success in the 1970s as electronic
technology has enabled it to produce better calculators
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less expensively. The recession has had some impact
on Epsilon and it has reduced monthly production
from 22,000 calculators to 20,000 calculators. Epsi-
lon sells its calculators to retailers at an average price
of $20. The callculators retail flor prices from $20 for
basic models to $60 for more sophisticated models.
Epsilon recently was approached by a large retail
chain store which sells calculators under its own pri-
vate label. This company wants to order 120,000 cal-
gulators from Epsilon over the next year —0@000pper



month at an average price of $4. Epsillon’s prodiuction
vice president does not want to accept the order for ttwo

reéasons:

¢ Epsilon has never produced more than 24,000 cal-
culators per month.

¢ Epsilon’s average cost is $15 per calculator and it
would not make any money on these sales - it
would lose money.

Capacity

The first lesson here is that most companies can
physically produce far more than they normally do.
Conceptually, there are three levels of capacity — dinat
is, the quantity which a company can produce with its
present physical plant and equipment. These are:

¢ Theoratiaal cappeitiyy— Thheqquaarityywiiihhcoaldd
be produced if dine pilkant wias apperated at il tives
and there were no interruptions in production fomr
any reasons including breakdown of machinery,
absence of amplloyses, spoilled merncdhandise, ete.
Theoretical capacity is impossible to achieve, but
is a good way to introduce the next two levels of
capacity.

® Practical capesity— Thikssstatts witththietHeeoxafical
capacity quantity but does allow fot mormal imder-
ruptions in production. It recognizes that ma-
chinery - and people - cannot always functiom op-
timally and that sometimes the production process
will not go perfecilly and merchanise may be
spoiled.

e Normal capacity - This represents the quantity
which the company will produce consistent with
what it can sell. In other words, the company must
evaluate both its practical capacity and the demand
foe its produet in the open market. If Epsilon is
physically about to produce 40,000 calculators per
month - its practical capacity - but can only sell
20,000 to the market, its normal capaeity will be
20,000 units. This is the peint at which Epsilen is
currently predueing.

Figure I-16 introduces one more term — unused ca-
pacity. This is the differencs Hxstwiessn pradiical capsdity
and normal capacity. Epsilon has unused capacity. In

FIGURE 1-16  CAPACITY

Unused
Capacity

fact, most companies have unused capacity. The point
is that Epsilon can produce the additional 1®,000 cal-
culators . Tt ey Houe ewer prrodiuced aat tiks lkewel this-
fore wuouild the mo clsiacle iim dhe long mum. OF cealikes, in
the short run Epsilon may have problems gearing up = it
may require overtime, additional personel or another
shift. But it is able to produce these calculators.

Incremental Costs

Epsilon’s second consideration is incremental
costs. Remember that Epsilon’s production VP says it
already costs an average of $15 to produce the cal-
culators and if Epsillon sellls 2 $14! it wiilll ot only wndke
no profit, it will lose money. An analysis of Epsilloi’s
costs appears in Figure 1-17.

FIGURE 1-17 ANALYSIS OF COSTS

Direct Materials $ 4.00
Direct Labor 5.00
Manuffactuniing Overhead _6.00

m
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Further analysis of tese costs is macessary. [Dirsct mia-
terials and direct labor costs will certainly be incurred to
produce these 10,000 calculators. As their names imply,
direct materials and direct labor are associated strictly
with the production process and are variable ansts—- thut
is, they will increase in total as total production in-
creases and they will increase in the same proportion as
total production. Accordingly, it will cost Epsilon $4 of
direct materials costs and $5 of direct laber costs to
manufactui: each of the 10,000 additional units.

Manufactuniingg overhead, however, is a difffresnt
story. Manufactumiingz overhead consists of everything
else required in the manufactuniigy process besides
direct materials and labor. This includes rent, deprecia-
tion, energy costs, indirect labor such as maintenance
people, real estate and payroll taxes, insurance, eic.
Many of dhese costsan ¢ified - diad its, diey willl ot iw-
crease in total as production increases provided the
company does net exceed practical capacity. (If the
company exceeds practical capacity, additional plant
and machinery will be required thus increasing fixes
eosts:) For Epsilen the $6 of manufactuiing everhead
eonsists of §5 of fiixed cosis and HiL of variable costs.
Aseordingly, t6 produce the 10,000 additienal eal-
eulaters, Epsilen will ineur ineremental manviaciuring
gverhiead eests of enly $1. Figure 1-18 presents an
aﬁﬁlf'§l§ of Epsilen’s ineremental eests on the private
label rder.

There are a number of iimyportant fiacts witiodhozanteeads-
served from both Figures 1-17 and 1-18.

o Tatalffised manufacturing overhead is $I0ID,000
per month. This is computed by multiplying
current normal capacity of 20,000 units by $5
fixed manufactuningg overhead costs ($6 fimm
Figure 1-17 less $1 from Figure 1-18).

® Provided the company does not exceed practical
capacity, incremental costs for adidiitional wuits will
always be smaller than average costs because the
$100,000 of fixed manufactuniiiy overhead costs
will be spread over a larger quantity of units.

¢ Epsilon will make a profit of $# paruniit fiom sedli-
ing the 10,000 private label calculators or a total of
$40,000.
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FIGURE 1-18 ANAILYSIS OF INCREMENTAIL COSTS

Direct Materials $ 4.00
Direct Labor 5.00
Manuffactuniing Overhead _ 100

$10.00

Dangers In Using Incremental Costs

The Epsilon case problem seems to come to a very
obvious conclusion - Epsilon should take the order
because it will generate profits of $40,000. But this
may not be the right conclusion. Like all other cost/
benefiit analysis, qualitative factors must be consid-
ered. Presently, Epsilon has a contribution margin of
$10. This is the differencee between average selling
price of $20 and average wariable costs (Figure [11B))aff
$10. Contribution margin represents the amount of
money available to pay for fixed costs and to gEmerate
a profit. Since Epsilon’s fixed assets are $100,000, its
breakeven point iis cconpputisdi Hoy ttie flanmula

fixed costs $100,000 _

contribution margin $10 1®,000 units

Any sales above breakeven point generate a profit agual
to such sales multiplied by the contribution margin.
Since Epsilon is currently producing 20,000, it is mak-
ing a good profiit (10,000 units x $10 = $100,000).

If Epsilon accepits e ardier from theereatdilothdimsstore
and can keep this market separate and distinct from its
present market, the order will indeed generate $40,000
of adidlitional profit. Hiowever, iif tHee reehiestl pritee flor
the private label calculators forees Epsilon to reduce its
price on caleulators manufaciuest with its own label to
$14, it will severely impact profits. Contribution mar-
gin on all sales will decline from $10 to $4, breakeven
point will be
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$100,000 fixed costs

25,000 unit
$4 contribution margin s

instead of 10,000 units and profits will go fiem
$100,000 down to only $20,000 (5,000 units sold above
breakeven point x $4 contribution margin).

Clearly, the need to keep the two markets separate is
critical. In recession companies will have increased un-
used capacity and “opportunities” may be presented in
the form of quantity sales at lower than usual prices.
These might enable the company to reduce its unused
capacity and maintain its previous normal capacity
levels or even higher production levels. The analysis
presented here of capacity and imerenmental costs — -
cluding especially the qualitative factots of Howpressant
customers and competitors may react - must be care-
fully performedi befote accepting these new “opportu-
nities.”

OPPORTUNITY COSTS AND THEIR RELA-
TIONSHIP TO COST/BENEFIT ANALYSIS

Qualitative factots — such as the many which have
been discussed in this chapter ~ play an important role
in cost/benefiit analysis. Admittedly it is very difficuiit to
put a dollar figute on qualitative factois.

Despite these difficullifss e ake “adivanest!™ tadh-

niques which can be used in cost/bemefiit analysis. Take,

for examplle, opportunity costs. If ancsiimeateconitiibze
made of diie probability of eaanttscaeaitiiig, tHenadidl-
lar amount could be assigned to opportunity costs in a

cost/benefiiit analysis.

What does all this mean? An example will clanfy.
Unique Widgets has some unused capacity. It has tre-
ceived an order for 100,000 regular widgets which will
generate a profiit of $30,000. Uhiigiue kinows tivad diere
are two other orders which it may get in the niext month
- an order for 50,000 specialty widgets which weuld
have a profiit of $60,000 and an erder oy 12000080reqay-
lar widgets whieh weuld have a profiit of $36,000.
Unigue ean 6nly preduee anether 125,000 widgets, s6 it
ean only aceept either the existing erder or ene of ihe
other twe - if either eefies in. 1t estifates that its
ehanees of reseiving dhe spesialty ovaler ils 1% andl i
ehanee of reeeiving the larger regular erder is 60%.

Unique wants to know what to do. If it accepts the
100,000 regular widget order it will clearly make a
profiit of $30,000. On the other hand, if dhe spscialty
order ot the larger regular order comes in, Unique could
not manufactuie the widgets and would “lose” ad-
ditional profits of siitharsBR0EEDTSHA ERY). Fjgiee11199
analyzes Unique’s epportunity costs of accepting the
100,000 regular widget order.

FIGURE 1-19 CALCULATION OF OPPORTUNITY COSTS

@

@) @ x @)

Possible Opportunity
_Order_ Probability Profit Cost
Both specialty and larger regular widgets 10% x 60% = 6% $60,000 $ 3,600
Specialty widgets only 10% x 40% = 4% $60,000 $ 2,400
Larger regular widgets only 90% x 60% = 54% $36,000 $19,440
Neither 90% x 40% = 36% $ 0 $ 0
$25,440
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The first column diescribes the possible event-- tiere are
only four possibilities:

¢ Both orders come in

¢ The specialty widgets order only comes in

¢ The larger regular widget order only comes in

® Neither order comes in.

A probability is associated with each of dine passifilitiies
~ if tihare iisa 1 0 octnansae thet e sypaciality wildiges crdiar
will come in, then there is a 90% chance that it will not;
similarty, if dire ils a60% hance that el laggareggutar
widget order will comme in, then there is a 40% charnce
that it will net - these probabilities are thea multiplied
to determine the overall probability.

The third column is the profiit associated with the
possible orders. These are self explanatory except
perhaps for the first line — both the specialty and the
larger regular widget orders come in. If diiis hgppans,
the company can only accept one of die aidiers wildh i
present capacity. 1t would accept the specialty order be-
cause this yields a larger profit — $60,000. Finally, the
opportunity cost is calculated by muliiplylag the
probability and the profit and then adding each line.

Because the opportunity cost of $25 440 its lkess tiam
the profit of $30,000 on the existing order, Unique
should accept the smaller regular widget order. This is
because the combination of dhe possible erdiers and dhe
probability of diaiin ecourring madhenatically is mod £
great as the profiit on the exIsting ordet. If die ppori-
nity cost is greater than $30,000, then Unique should
consider how much greater - if it is only marginally
greater, Unigue should still take the existing order be-
cause it is possible for neither order to come in; if ittils
fuch greater, Unigue sheuld probably wait.

Although there are many other factots a company
must consider such as customer goodwill, this type of
analysis does quantify appontunity cests and rretiemad-
ically analyzes some of e iisks. Itz the wery wseful iin
making cost/beneffilt decisions. The book Cost-Benefit
Analysis ffor ExaautiveDagision Makess bpPRITfessor

xenfédlitt, Alfred R. CostBongiit AnidpdisfofoExdexevative
Decision Makers. New Yoark: American Management
Association, 1979.
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Alfred R. Oxenfeldtt of Colwmbia Umiversity is @ wery
detailed analysis of these and other cost/benefiit tech-
niques.

ANALYTICAL REVIEW TECHNIQUES

In making operations and financiall decisions a com-
pany manager should use analytical review techniques.
Analytical review techniques are tests of ot financial
and operating information, perfomed by studying and
comparing relationships among data to observe:

¢ Fluctuations that are not expected

® The absence of fluctuations that are expected

e Other items that appear to be unusuial.

Management can also use analytical review to idemiify
areas that may require more attention; the principles are
the same in either event.

Principal Types Of Analytical Review

L Comparison of actual results and halances to pre-

dicted results or balances

-~ Example: Comparison with budgeted figutes
and investigation of wariamces fior ssuthaatiiieas
as:
® Sales to budget
¢ Costs to budget
o Cash flow to budget.

2. Comparison of @il nesuilts and tallances to grior
results and balances
— Example: Comparison of quantitiadive distta, stuch
as:
* Sales
* Purchases
® Overhead
® Receivables
e Payables
® Inventory.
~ Example: Comparison of qualitative data:
e Principal customers
® Principal suppliers.



3. [Examine consistency between interrelated results

and balances

— Example: Calculating the expcted balance in
one account based upon the balance in other ac-
counts, e.g.:
¢ Accounts receivable based on sales and re-
ceipts
¢ Interest expense based upon average borrow-
ings
® Rental income based upon rental units
¢ Payroll based on number of emplloyees.

4. Comparison of changes in interrelationships be-
tween accounts in comparable periods

— Example: Examining the ratio of @ne thlanee tio

another and comparing with the ratio in prior

periods, e.g.:
e Sales to accounts receivable
® Inventory turnover.
5. Comparison of intanrelationship hetveen aaonuinds
in comparable entities
~ Example: Ratio analysis as outlined in 4. above
but comparing results with those in similar
enterprises, e.g.:
e Internally as between like branches
o Externally as between similar businesses in
the same industry.

In all of the ahove procedures, dhe most wseful and
valid results are obtained when the analysis is done at a
detailed level, e.g., by product line or category of ex-
pense.

Common Analytical Review Procedures

The common analytical review procedures for major
financiall statement classifications are given below.
This checklist may be reproduced for your use in
analyzing your financiall statements. Space is provided
after each major financiall statement caption to add
other analytical review procedures which are pertinent

for your company.

Cash

e Review changes in bank balances during the
period and consider reasonableness in view
of other cash flow data, such as changes in
accounts receivable/payable, etc.

e Compare cash figures to cash flow budgets
and determine reasons for variances.

e Offinar...

COMMENTS
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COMMENTS

Accounts Receivable

e Review the relationship of average re-
ceivables to net sales during the period and
consider its reasonableness in relation to
credit policy, collectibility, etc.

o Compare the current aged listing of saranuitts
receivable with that of a previous date, and
note any significanit changes, for example,
changes in major customers, in the ratio of
overdue accounts, in the proportion of cedit
balances, turnover of recsivablies, &ie.

¢ Obtain informatiom as to the bad debts writ-
ten off diuiing the peeitat], At conyeareiittto
the extent of tuadi diehuts im purior preriiadis, and
also to the allowance for doubtfull accounts.
This informatiom may give some indication
of a change in the effectivenssss of die com-
pany’s credit and collection procedures, or a
change in general business conditions, etc.

¢ Determine whether there are any balances
with related companies, or with sharehold-
ers, directors, or officeis. Iffseq hoavddaliesse
balances compare to similar balances at the
last review date? These types of balances
may or may not represeat genuine “trade”
accounts - possibly they should be exeluded
from tie calloullation off reatinsantiatiarssiatis-
ties for firadle ascounts 25 they imay aistor dhe
true pesition with regard i6 “arm's-length”
transaetions. They may alse pese particular
valuatien preblems.

e Offifar...

Marketable Securities

¢ Review changes in balances and value of
marketable securities and other investments
during the period in light of the compaiy’s
investment policy. Consider in relation to
managerment of cash.
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COMMENTS

Marketable Securities (Continued)

e Compare interest and dividend income to
prior periods and as it relates to marketable
securities and other investments.

e Offar.. .

Prepaid Expenses, Deferred Charges and
Other Assets

o Compare the prepaid expenses to similar
items at the previous review date and deter-
mine whether the figures seem reasonable in
relation to other informatiom (e.g., increase
in level of expanses ower tihe previous year,
changes in operations, etc.)

® Review reasonableness of deferral of ex-
penditure in relation to operating results,
prevailing economic conditions, immediate
industry prospects, etc.

o Ofinar....

Inventories

e Calculate percentage of gyuss profit tto ssdkes
(departmentallly, or by product line if
possible) and compare with previous period
and with budget. Obtain explanations far
significanit changes. Coordinate with review
of sales and cost of sales.

e Calculate ratio of iinwantiory am Hand ttowsege
(departmentallly, or by product line if
possible) and compare with the previous
period and with budget. Obtain explanations
for significamtt changes.

* Review inventory turnover ratios by product
line for dite period @md compare with dhose of
the preceding period and with budgeted fig-

ures.
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v COMMENTS

Inventories (Continued)

e Review the allocation of wusts ttoiinwearttaniies
used in the financiall statements and compare
the treatment in the cost accounts. Examine
the overhead rates applied and determine
whether the inventories contain any cost
which should be expensed in the period hav-
ing regard to known factois such as accuracy
of budgeted costs, activity levels, unusual
events, ete. Coordinate with review of pui-
chases and wages.

e Compare classifications of citosingiinwearttary

to those of e cllasimg imventory of tHeepweonii-
ous period and investigate any significanit
changes.

e Review other operating trends and statistics
which might be of wse iin dirawing adtevition to
inventory valuation problems. Such trends
and statistics should always be related to
other known facts and to relevant infoummea-
tion obtained from atiner sowrces. Treandis and
statistics that might be useful in addition to
those mentioned above, would include:

~ Inventory components by location, by
type, by product, etc., for the current re-
view date.

~ A reconciliation by units of opening in-
ventory, purchases and production re-
cords, sales and closing inventory, with
explanations of major discrepancies.

~ Ratios such as cost per unit, material/
labor/overhead, for closing inventory and
for cost of sales for the period.

~ Overhead costing ratios (e.g., rate per
hour, percentage on basic cost, etc.).

o Ofihear.....
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COMMENTS

Property, Plant and Equipment

e Review changes in these accounts during the
period and consider reasonableness in view
of adiier availlaihle information, such s casi
flow data, changes in accounts payable or
long-term debt, increased productivity, etc.

e Review capital budgets where possible and
compare amounts spent with amounts autho-
rized and determine whether diiffRienoess
were properly approved.

¢ Consider the likelihood of property, plkemt andi
equipment becoming idle during the period,;
e.g., has there been a significamtt drop in
production at one of tiine pilkamts, ar les ttere
been a change in product lines which might
render some machines idle?

e Review repairs and maintenance expense ac-
counts for the period and compare to previ-
ous period, to ascertain whether there are any
material items which should have been
capitalized.

e Compare the ratio of depreciation to
categories of property, pllant amnd eguigpmemt
(exclusive of land) flor tHeepganiimd wiithttetaff
previous periods, to evaluate the level of die-
preciation expense and whether a unifomm
policy of recognizing depreciation is in e
fect.

e Other. ..

Accounts Payable

e Compare the current listing of aaamumts ey
able with that of die previous review diztie and
note any significanit changes, for example,
changes in major suppliers, in the number of
overdue accounts, in the proportion of diehit
balances, eic.
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COMMENTS

Accounts Payable (Continued)

e Determine whether there are any balances
with related companies, or with sharehold-
ers, directors or officens. Iffseg hoovwddathiesse
balances compare to similar balances at the
last review date?

¢ Review statistics such as the comparison of
the size of aaaoumnts payable to purdieses, ar
the gross profitt ratio, and compare to previ-
ous periods, and obtain satisfactiomy expla-
nations for tine cunrent fiigures. (Niote diat iit iis
not sufficienit merely to establish that there
has been no significanit change from die pre-
vious period; the important question is —
should there be a change, and if so, how
much?)

o Oftiear....

Accrued and Other Liabilities

e Compare the accrued expenses to similar
items at the previous review date and detes-
mine whether the figures seem reasonable in
relation to other informaiiiom (e.g., increase
in level of expense ower tihe previows pratiod],
changes in operations, etc.).

o Otfiar... .
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V4 COMMENTS

Long-term Debt

¢ By reference to repayment requirements, de-
termine whether the change in long-term
debt for the period seems reasonable.

e QOtifnar...

Sales Revenues and Sales Deductions

e Compare sales by product line with budgeted
sales and sales of preceding period. Considier
whether results are in line with other known
informatitom (e.g., expanding/decliiniing mar-
kets, changes in sales prices or sales mix,
new or discontinued lines, etc.). Sales to re-
lated companies and sales of am wmusuzl ma-
ture should be considered separately.

e Review details of units shipped with sales
and production records. Does sales figune
appear reasonable compared to level of
production?

e Compare gross profit ratio to previous
periods and analyze changes. Consider
whether the reasons for such changes appear
reasonable.

e Compare sales deductions, such as dis-
counts, as a percent of sales for the current
period to prior periods. Consider whether the
reasons for changes appear reasonable.

o Otihear....
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COMMENTS

Costs and Expenses

e Compare cost of sales by product line with
budgeted and preceding period amounts.
Consider whether results are in line with
other known informaiiem (e.g., increased
costs of raw materials, labor, overheads,
etc., changes in volume and product mix,
changes in overhead rates, etc.).

e Compare gross profit by product line to bud-
geted and preceding period amounts, and
analyze changes. Consider whether such
changes appear reasonable in light of other
informaitiiom re sales.

e Compare expenses individually with bud-
geted and preceding period amounts. Con-
sider whether results are in line with other
known informaiiiom (e.g., increases in labor
rates, changes in asset or liability accounts
which affectt expenses, changes in size of
administrative functions, etc.). Particular at-
tention should be paid to unusual or extraor-
dinary items which might distort the com-
parison.

o Review ratios of exqumess ttit stivowlkd| weary iim
line with other figures (e.g., sales, produc-
tion activity, etc.).

o Oiear...

Taxes on Income

e Compare tax expense for the prariiod| wiifn pre-
tax profit and obtain explanations for any
significantt disproportionate amount.

o Otifear.....
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CHAPTER 2 -
QUESTIONNAIRE AND CHECKLIST
LIFO

COMMENTS

L. Have you considered changing to LIFO?

2. Have you calculated your potential tax sav-
ings over the past few years as if on LIFO?

Payroll Taxes

L Have you investigated all possible ways of
minimizing payroll taxes?

Depreciation Options

I Do you use accelerated methods of digprecia-
tion for tax purposes?

2. When using accelerated methods do you
switch back to straight line at the right time?

3. Have you considered ADR?

Tax Losses and Cash Flow Problems
L Do you qualifyy for a(n)
a. quick refund of overpayment of
estimated taxes?
extension of timme fior payment of tie??
c. extension of tax payments when NOLs
are expected?
Tax Credits

L Do you understand and maximize
a. investment tax credits?
b. energy credits?
¢. job credits?

Other Areas

L Do you consider tax matters in making in-
vestment of company fumds?

2. Do you minimize state and local taxes by al-
locations of corporate income, and taking
advantage of net operating losses and in-
vestment tax and other credits?

3. Do you keep up with new tax proposals and
implement those which are advantageous?
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INTRODUCTION

In recession times there are “automatic” decreases in
taxes ~ as companies earn less, they reduce the base on
which taxes are paid. But companies often dio mot prop-
erly consider all tax advantages which are available to
them. This chapter covers several:

Switching to LIFO

Saving payroll taxes

Using accelerated depreciation — and switching
back to straight-line

e Expediting tax refunds aandi dtdbayiimg) ttex preymeartts
e Maximizing tax credits

e Reviewing the company’s imvestments

* Minimizing state taxes

e Understanding and preparing to implement tax
proposals and their impact.

This chapter gives some ideas for tie company nmamn-
ager to save tax dollars. Every company should
minimize its taxes — any other course of actfion iis imfiner-
ently foolish. While these are some of the principal

ways to save tax dollars, they are not all-inclusive and
careful analysis is always required to consider all as-
pects and ramificatiions of @ tax Savings program. Your
Touche Ross tax partner, or the tax department of your
nearest Touche Ross officze cam paxiitie nmoxe imforma-
tion and assistance.

LIFO

The LIFO method of distermining die imventory por-
tion of cost of sales — last in, first out — will generate
substantial tax savings in inflation. LIFO is a flow-eff-
costs inventory method and contrasts with the more
prevaleat FIFO method - fisstt in, first out.

For a company to continue in business, it must re-
place inventory which is sold; to expand, it must also
increase the size of inventory to accommodate an in-
creasing sales market. LIFO and FIFO are simply diff-
ferentt ways of costing the same inventogy.

In FIFO, determination of the acoounting walluation
for goods on hand uses the most recent costs of goodis
purchased or manufactured, while the cost of goods
sold, charged to operations, is recognized at the earliest
costs - the costs at which the goods sold were fist ac-

FIGURE 2-1

INVENTORY AND COST OF GOODS SOLD - FIFO AND LIFO

Goods Purchased FIFO LIEO
Cost of Goods Ending Cost of Goods Ending
Unit Total Sold Inventory Sold Inventory

Date Units Price  Cost Units Cost Units Cost Units Cost Units Cost
Jan1 100 $1.00  $100 100 $100 100 $100
Mar 1 150 $1.10 $165 150 $165 150 $165
May 1 100 $1.20  $120 100 $120 50 $ 60 50 $ 60
July 1 100 $1.25 $125 100 $125 100 $125
Sept 1 150 $1.30 $195 50 $ 65 100 $130 150 $195
Nov 1 200 $1.35 $270 200 $270 200 $270

800 $975 500 $575 300 $400 500 $650 300 $325
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quired. In LIFO, it is exactly the reverse. Figure 2-1iil-
lustrates how this works.

Assume that acompany began business in 1980 and
purchased goods for resale. The figure shows cost of
goods sold for the period and inventory cost at end-
of-yeair as calculated by both FIFO and LIFO, assum-
ing that 500 units were sold and 300 remain in in-
ventory.

Obviously, Cost of Goodts Sild tegether widh Ending
Inventory total the same ($975) in both methods since
together they equal the total of goodis purchased dluring
the year. However, with LIFO, Cost of Goods Seolld iis
$75 higher and Ending Inventory is $75 lower than with
FIFO. At a tax rate of S0%, tthe animpany hasssaued 0%
of this diffesinee - $37.50.

Of course, itt iis ardily wuarth hetheting wih diifferent
inventory methods to save $37.50, but this simple
example does suggest the advantages of this method.
Figure 2-2 maghifies the use of LIFO. Hisfe 2 aampany
which started business in 1967 has enjoyed actual sales
growth of abeut 10% a year. In the firsk year it seld
1®,000 units and had 2,000 units in inventesy, all at a
cost of $10, Cests of goeds purchased in sueceeding
years are assuried t6 inerease approximately with the
Consufner Price Index and the eempany inereased if-
ventery units by the same 109 inerease ever the previ-
6us year to asesmmedate the larger sales velume.

Figure 2-2 shows tax savings of LIFO over time.
The detailed computations are not shown to eliminate
unnecessary detail in the illustration; these computa-
tions are made using the same basie principles shown in
Figure 2-1. Notice that in 1967 - the company’s fiisit
year in business = there is fo differesinee between the
FIFO and LIFO methods. This is because the diff-
ferences arise only when the price of goodss itnaicases;
the illustration shows hew the differeirass ouardimede-
corme especially dramatie when the inflatiom rate jumps
significantlly as it has in the past few years. By 11979 he
eempany has saved a total of $24,000ilndax dlollars Pxar
the years. LIFO tax savings are alse greater in years ef
higher inflatiom (e.8., 1974, 1975, 1978, 1979) which
fakes LIFO espeeially aitractive iR teday’s eeeRemy:

These illustrations cover only the basic advantage in
LIFO - that in periods of imflation ({the Comsumer Price
Index has declined only twice in the past 40 years and is

FIGURE 2-2

LIFO TAX SAVINGS

FIGURE 2-2

LIFO Tax Sawings
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now more than 5 times 1940 levels) using LIFO rather
than FIFO or any other inventory method can save sub-
stantial tax dollars.

Drawbacks Of LIFO

Of courrse, iif tHeessteatly riseeiinpriteas wegrettotoecaar-
rested or reversed — perhaps because a recession or a
glut made suppliers lower prices in the face off sedftariing
demand - then LIFO accounting could be detrimental.
The LIFO method works, after alll, by taking
of a dollar which is contlnually diminishing in real
value. If e real wlue were (o stiart growing, 4 com-
pany using LIFO eould end up paying bigger and bigger
chunks of ittsitnesme i tewes. Sikmilarly, adiasdhine it the
guantity ef goeds in inventory because of decreasing
demand during a recession eould have adverse tax €6A-
seguences.

During an inflatiomaimy period, the reverse happens —
the real value of every mew diollar staded iis lkess andl lkess.
Since LIFO does not distinguish between the $10,000
that bought a factofy in 1940 and the $10,000 that
bought a hand truck last week, it minimizes stated in-
come and so reduces income tax. But it depresses the
company's earnlngs statement at the same time, and
might hurt a company’s ability to sell equity of borrow -
unless the investors and brokers knew the scoep.

IRS LIFO/FIFO Conformity Rules

The IRS has dictated in specific regulations that if @
company uses LIFO for tax purjposes, dnen it must lso
use LIFO for its financiall reporting which reduces re-
ported earnings. This is the main reason why fax-saving
through LIFO has not been more widespread. Recent
IRS regulations that ease the LIFO confoxniity fules
make it easier for taxpayers to adopt LIFO. Wethslkiewns,
howevet, that LIFO makes senise = it saves tax dollars
and it provides for more realistic financiall reperting
(more abeut this in Chapter 4).

PAYROLL TAX SAVINGS OPPORTUNITIES

The increased use of computer software and com-
puter service bureaus has made many companies aware
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of gpecific milles on payroll taxes wiich can save suly-
stantial tax dollars. The most salient of these is that
FICA (Social Security) taxes are not payable to the
government on compensation paid while an employee
is sick. This applies to leaves of one day or more.

All a company has to do is keep track of “sick ey
and not pay the employer’s share of FICA tiax, mor die-
duct the employee’s share. This is a simple matter,
whether done manually or through a special code fei
into the computer.

Of course, if most of a company’s employees earn
over the maximum FICA wage base (for 15880, $25,900
per year), there is less opportunity for saviimgs. Buteven
in such companies there are usually substantial num-
bers of lower-paid clerical workers and support stfff
earning less than the wage base. A company can save
tax dollars on sick pay paid to these eniployees.

A company should also make sure that only valid un-
employment compensation payments are charged
against it. Unemployment increases in recession and
unemployment payments are funded by payroll taxes
paid solely by the employer ~ the higher the payments,
the higher the tax rate. If afiormer anpltoyeewaiimtatily
resigned or was fired flor ccalses, Hieiisatfion inetiggbdderfor
unemployment compensation. A company is usually

netified of il wnemplleyment compensation cllaiins and
sheuld investigate each claim’s validity.

DEPRECIATION OPTIONS

One way of mimimmizing tases is to expense more of
a depreciable asset during its early years than during
the later years. These accelerated methods of digprecia-
tion, such as the declining balance method or the sum
of the years-digits method, may be used at the
taxpayer’s discretion, except to depreciate real estate.
The maximum accelerated method available for de-
preciating new commercial real estate, other than resi-
dential rental property, is the 150% declining balance
method; no accelerated methods are available for used
nonresidential commercial real estate.

Switching From Accelerated Methods To The
Straight-Line Method

The use of anuelierated digpreciation fior texppurpResss
does not mandate its use for fiimancial reporting), winere



FIGURE 2-3

SWITCHING FROM DOUBLE-DECLINING BALANCE
TO STRAIGHT-LINE DEPRECIATION

Original Cost $20,000 (minimal salvage)
Usefuil Life 10 years
Depreciation

Unamortized SL on
Year Cost DDB Unamortized Cost
1980 $20,000 $4,000 $2,000
1981 16,000 3,200 1,777
1982 12,800 2,560 1,600
1983 10,240 2,048 1,463
1984 8,192 1,638 1,365
1985 6,554 1,311 1,311
1986 5,243 1,049 1,311
1987 4,194 839 1,398
1988 3,355 671 1,678
1989 2,684 537 2,684

the taxpayer may use the straight-line method. Most
taxpayers use accelerated methods of depreciation in
preparing their tax returns, but many do not switch to
the straight-line method at the point when straight-line
depreciation exceeds accelerated depreciation. Figure
2-3 illustrates the advantage of switching from the
double-declining balance method to the straight-line
method.

Through 1984, depreciation by declining balance
method exceeds straight-line, in 1985 they are the
same and fronn [EERG-19H9 sirsight-line exceeds dieclin-
ing balance. Obviously, the switch should be made
about 1985. Note that under the DDB method the asset
is still not fully depreciated after 10 years even tthough
its useful life is ended. Similar analyses may be com-
pleted for conditions of other depreciation methods
and other useful livies tio distenmine tive aptimal point to

switch to straight-line.
ADR - Class Life Asset Depreciation Range System

The IRS has developed a depreciation system to
gauge the recommended useful liife anerrwititthanaassat
should be depreciated. This Asset Depreciation Range
system, or ADR, gives an “Asset Guideline Period” for
each of awiidie wariety of dégptedititeaaseeis. Iinsstieehil}-
ing depreciation, a taxpayer may depart from dhis Asset
Guldeline Period by as much as 20% without challenge
by the IRS. These guidelines are riot binding on com-
panies that can justifly diffeesnit usefull lives.

For example, the Asset Guideline Period for office
furniture, fixtures, and equipment is 10 years. With the
20% discretionaty matgin, the range for depreciating
these assets becomes 8 to 12 years. See Revenue Proce-
dure 77-10 as supplemented and amended foi current
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ADR tables. New property may be depreciated by the
straight-line, the double-declining balance, or the sum
of the years-digits method; used property may be de-
preciated through either the straight-line or the 150%
declining balance method.

Under the ADR system, the taxpayer may use an
“Annual Asset Guideline Repair Allowance Percent-
age.” This establishes a guideline for mepairs witiich are
clearly not capital expenditures. The guideline is to
avoid possible disputes between taxpayer and IRS over
which expenditures may be deducted immediately as
repairs and which must be capitalized and depreciated
over the asset’s remaining life. All expenditures for re-
pairs and rehabilitation will be considered currently de-
ductible if dhey dio mot excsed die specific dllowansee.
These guidelines are published with the ADR ranges.
The guideline for office flurmiturs, fTitturas, anatleeuuifp-
ment is 2%; for automobiles and trucks it is 16-1/2%.

Other Tax Savings Through Depreciation

There are three other matters that can result in saving
substantial tax dollars. These are component deprecia-
tion, immediate deduction for sales tax, and leasing
versus purchase.

With component depreciation, tax savings are avail-
able by breaking out components of @ tuildiing ndi die-
preciating them separately from the building shell. For
example, a building may be depreciable over 40 years
but certain parts of it~ sush &s flixgures - maayteedigits-
ciable over 10 years. Obviously, the shorter the useffill
life, the greater the depreciation in earlier years ne mat-
ter what method is used.

Most states and many municipalities charge sales tax
on a wide variety of merchandise and services. Sales
tax paid on a depreciable asset is immediately deduct-
ible for tax purposes hut meay mot the imchuded i dhe cost
basis of an asset being depreciated.

Finally, a company may be better off leasing an
asset rather than buying it. Oftem arrangements may be
made for the asset’s investment tax credit to be
“passed through” to the lessee. Return on investment
technigues should be used to determine whether it is
better to lease rather than buy; these are discussed in
Chapter 1.
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TAX LOSSES AND CASH FLOW PROBLEMS

The Internal Revenue Service has several rules
which can alleviate a tax burden under certain circum-
stances. These include:

e Corporation Application for Quick Refund of
Overpayment of Estimated Tax — Form 4466

e Application for Extansion «ff Tiineeféor PRgymeaniobf
Tax ~ Form 1127

o Extension of Thinee flor FReymremt off Thaxsslyyaa((or-
poration Expecting a Net Operating Loss
Carryback — Form 1138.

Quick Refund Of Overpayment Of Estfiunatiod T s

Often,, particularly in economic downturns, a com-
pany will overpay its current year’s taxes. When this
happens Form 4466 may be filed to olain @ refund afftar
year-end and prior to filing the tax returns. This form is
a simple recomputation of tthe expacted imaome tex liia-
bility - similar to what is needed to prepare the original
estimate. The IRS will act on a Form 4466 application
within 45 days and refund any overpaid money.

Extensions

Extension of time for ppeynmemt aff tbex . A\ teoppeyearczan
delay payment of taxes alireadly diue ixeyond die diue diate
if the taxpayer can demonstrate that paying the tax
currently will result in “undue hardship.” “Undue
hardship” means that the taxpayer will suffer filnancial
loss if dihe dax s it e dlue dinte. Te aampany must
demonstrate that it does not have enough cash, above
necessary working capital, to pay the tax and canfot
convert sufficivitt assatsitite cash witthowt salling piep-
erty of other assets at a price below market (sackifice:
priee). The IRS may grant an extension for 18 menihs
and may, in rare eases, extend this an additienal 12
fetiths. ihterest is eharged at the eurrent rate (12% at
this writing). The IRS alse may require sesurity as 66l-
lateral for dhe exdension. The kind of sseaiity My e
Bend, filing @ﬁﬁﬁlk@&fnléﬂn R iaaae pidadae ddeedaf
trust Qf spesifie pre SNSRI 255805, OF RErSORAY
surety. N8 eellﬁtefa i8 fequlf@é if dhe daxpayer Nas 1Y



assets. An application must be filed on Form 1127 and
must detail:

o the date to which the extension is requested,
o why the extension is mecessary,

e why the taxpayer is unable to borrow the money to
pay the tax,
o what security the taxpayer will pledge to cover the
liability.
In addition, a statement of @ssetis and liishillifies @ of tHe
last preceding month with both book and market values
and a statement of receipts and disbursements fot the
three months befoi the tax is due must be attached to
Form 1127. The IRS generally acts on a Form 1127 ap-
plication within 30 days if possible.

Extending tax payments when NOLSs are expected.
A corporation expecting a net operating loss in the
current year may apply this expected NOL to reduce or
eliminate any tax due for tine prior year. The capparation
must file Form 11538 witich moust diestail ll reasons wilny
the corporation expects a NOL. The corporation must
consider all facts andl cirounmstamces rellating to iits oper-
ations to determine that it will have a NOL. These in-
clude current income statements and a description of
peculiarities of the corporation’s operations, such as
canceled contracts — government or other. The corpora-
tion is responsible for the accuracy of the fact and
estimate of ttie NICOIL.. Ay tax payments wibich prove to
be due will be charged interest - presently 12% - fiwmh
the original due dates. The IRS generally acts on a Form
1138 application within 4 to 6 weeks.

TAX CREDITS

Tax credits are critically important in minimizing tax
dollars. Tax credits are direct reductions on the amount
of tiex @wiead], im comtbrast 4o tiax dsductions wiidh neduce
the taxable income to which the tax rates are applied.
Every dollar of tax aradiits i @ diollkar redioction im tine
amount of tax payable to the government. There are
three tax credits that this section focuses on:

o Investment tax credits e Jobs credits.
o Energy credits

~J

Investment Tax Credits

Nearly everyone is familiat with the investment tax
credit (ITC). Initially enacted in 1962 to help alleviate
the recession at that time and to increase capital spend-
ing, it has become a permanent featuie of die fax lkaw.
Basically, most depreciable propefty except the
structural components of a bullding qualifies for the
credit (Section 38). Also rehabilitation expenditures for
certain existing structures qualify for the eredit. The
aximurn eredit is 0% for property wiih 2wseful 1ifteopf
7 years or mere. This rate drops to 6-2/3% for property
with usefull lives ef $7 years ang S-1/8% for property
with useful lives of 8-5 years. N sredit it Allowed for
property with useful lives of less than 3 years.

There are also limits on the amount of imwestiment tiax
credit that is allowable each year. The credit may not
exceed the tax liability. In addition, if die tex litethiilidy
exceeds $25,000 the credit may not be greater than
$25,000 plus 70% of dhe dax liebility ouer $25,000 ((this
changes to 80% for taxable years ending in 1981 and
90% in 1982). Any unused ITC may be carried back
against tax paid for fife past dhvee years and carried Gwer
against taxes payable ever the next seven years.

A company may increase the usual 0% maximum
ITC up to 11 to 11-1/2% if iit pikaces tie aditidional 11téo
2% in an employee siock owmnership plan
(TRASOP). This additional credit is scheduled to end
on December 31, 1983,

Energy Credits

An additional investment tax credit of 1%iisgiiantto
any business energy property which is also Section 38
property (that is, depreciable property other than a
building and its structural components); an initial credit
of 1% iis gjiiven to any husiness anergy moperty wiidn
is not Section 38 property. The IRS considers the fall-
lowing business energy propetty:

e Solar or wind energy property

¢ Recycling equipment

o Shale oil equipment

e Equipment for producing natural gas from geo-
pressured brine
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® Alternative energy property such as a boiler which
uses an energy source other than oil or gas or mixes
another energy source with oil and gas

¢ Energy property specifically defined by the IRS.

Investment credits for business energy property may
equal 100% of tax lithillity (e regular inmvesiment tax
credit is applied first and the same carryback and
catryover rules apply). Credits for solar and wind
energy propesty are directly refunded if tthey cuessdittie
tax liability.

Although the use and understandiing of the invest-
ment tax credit is universal, our initial analysis of
energy credits is that taxpayers oftem do not avail
themselves of diese and dio mot consider dhem iin retorn
on investment analysis (see Chapter 1).

(e,

Jobs Credits

A company may obtain tax savings by hiring persons

who are members of cartzin targeied growps, mimarily
the econornicaly disadvantaged. These individuals can

be:

¢ vocational rehabilitation referrals,

e economically disadvantaged youths, Vitginam-era
veterans, and ex-convicts,

* Supplementary Security Income (SSI) recipients,

® general assistance (welfare) recipients,

¢ youths participating in a cooperative education
program.

The IRS defines am “economically diisadivantaged™ per-

FIGURE 2-4 TAX SAVINGS - JOBS CREDIT

Without jobs credit
Salaries paid deducted from gross income

Tax savings at 46%

With jobs credit
Salaries subject to jobs credit:
First year salaries $10,000 @ 50% =
Second year salaries $12,000 @ 25% =

Remaining salaries deductiible fromm gross income

$100,000 — $8,000

Tax savings at 46%
Plus tax credits

Tax savings using jobs credit
$50,320 — $46,000

$100,000
$ 46,000

5,000
3,000
8,000
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son as one whose annualized familly income for tine six

months prior to the hiring date is less than 70% of tife

Bureau of Labor Statistics lower living standards.
The tax credit is computed as follows:

* 50% of ttertall flinet-year wengpss!limittad tto$6, Q00 prar
employee

® 25% of ttartall ssemmmuti-yesar weeggss miktsd! tto $56 000
per employee.

The amount of the credit must be subtracted fimm
salaries deducted in determining taxable income. Fig-
ure 2-4 illustrates the tax savings available. By using
the jobs credit, which is elective by the taxpayer, the
company has saved $4,320 in tax dollars.

INVESTMENT OF COMIPANY FUNDS

Other chapters of s took diescribe tadimiques for
maximizing returns on investment and optimizing the
use of & comypany’s cadn. There are cortain tax consid-
erations which a company must also consider to
maximize the return on invested cash.

While it is oftem advantageous for imdiividuals to im-~
vest in U.S. Treasury obligations because the interest
income is not subject to state and local taxes, similar
tax advantages are not available to corporations. Ac-
cordingly, interest received on U.S. Treasury obliga-
tions is fully taxable to a corporation,

In contrast, substantial advantages may be available
for investments in corporate stocks and bonds. Divi-
dends paid to an individual are fully taxable except far
the first $100 ($200 if flilling = joint netivm). $5% of thiee
dividends received by a corporation from another do-
mestic corporation are nontaxable — a substantially dif-
ferenit tax exclusion from that available to individuals.
100% of tthe diividiendss rsosived firom an affiliated cor-
poration is nontaxable.

Many states permit allocation of imoome hetween im-
come earned in the particular state — which is taxable,
and income earned out of tine state — wiich iis montiaa-
ble. Similarly, many states permit allocation of imnest-
ment income. A particular state will determine the per-

centage of acompany’s operations generated im the Szte

and only tax that portion of investment income. For

)

example, if the ABC Company and XYZ Company
each pay a $5 annual dividend, and the taxpayer’s state
determines that 90% of ABC’s tusimess iis gemerated iin
the state and only 5% of XYZ's usiness it gromerated i
the state, $4.50 of ABC's diividend wiill bz t:zxaile wihile
only $0.25 of XYZ's will be taxable.

Of cowrse, & company dhould mot look sulkdy to die
taxability of imvestment imoome im distenmining how to
invest, but this is certainly one factor which should not
be overlooked.

STATE TAXES

Federal taxes are a substantial cost to corporations.
(The fedetall government taxes corporate income over
$100,000 at a 46% rate. Taxes on the first $IHN,000 are
also substantial - 17% of dhe flirst $25,000, 20%, 3%,
and 40% of die mext diviee 25,000 isatans.) Stteke
and local governments often also impose a great tax
burden. The highest of tthese its e Pannsylhvaia asfipe-
fate ineofme tax = a 10.5% tax rate. Many eorporations
pay ever 50% eof their earnings io government in the
form of direct income taxes.

Allocations Of Corporate Income

There are some opportunities for stiste— amd| llocal — tax
savings which a company should use if its circum-
stances permit. The most important of tinese iis lloca-
tion of corporate income among states. Just as most
states permit the allocation of investment income be-
tween income earned in the particular state and income
earned ot of diie state, odher corporate imeoOme may be
similarly allocated. If & company AEEs MUSIESS N sev-
eral states but is headquartered in a state with a high tax
fate, allocation of corporate imcome among the seweral
states will result in tax savings. Often all the eompany
fust de is establish a sales office: in anether state to
gualify for allecation. Cempanies deifg business if
several states sheuld carefully evaluate the tax laws ef
eaeh state to determine a plan 6 minimize these taxes.

Other Areas

There are two other areas which may generate state tax
savings. These are:
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® Net operating losses
e Investment tax and other credits.

Certain states permit the carryback and carryfomaserct
of met operating losses and| livve imvestment tax arediits
similar to the fedetall government’s, others do not. Par-
ticularly when a company operates in several states,
knowledge of die tiax laws and how diese compare by
state is essential to optimizing the effectts aff tdxess.Heor
example, although it should not be the only criteria used
to make a business decision, the purchase of jroperty
eligible for imvestment aradiit will save more tax dolllars
if iit its pllaced  im sarviice im @ stake wihidh ko Hras am im-
vestment credit.

The point of tis seetion is that HaRwIRIRR Afithed fax
laws and rules of eaeh sige il Witich 2 conpany drs
business is mandatery. Carefull analyses of Whese s
and rules will identify whether the esmpany €an save
tax dollars:

NEW TAX PROPOSALS

Two new tax proposals will substantially reduce tax
dollars by depreciating fixed assets faster and making
more energy credits available to businesses.

Depreciation Of Fixed Assets

A pending bill which is likely to be passed within the
next year by the Congress, HR 4646, “Capital Cost Re-
covery Act of 197®,” provides that all fixed assets be
categorized in three groups as follows:

Depreciable
Fixed Asset Type Period
ClassI - Buildings and Structural
Components 10 years
Class I — All fixed assets except
those in classes I and III 5 years

Class Il - Automobiles and light trucks
(first $100,000 per year only) 3 years
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The bill does not cover intangible assets, residential
real property, and land. A full 0% investment credit
would be available to Section 38 property which fallls
under classes I and II; a 6% investment credit would be
available to Section 38 property in class III.

The bill also provides for aooelerated digpreciation of
fixed assets called the Capital Cost Recovery Al-
lowance. Rather than use current accelerated deprecia-
tion methodology, there would be a table for each cllass
of fixed assets and a differenic percentage would be
applied to the original cost each year. Smaller
businesses would be able to use this method with less
difficultyy than the declining balance or sum of the
years-digits methed. Figure 2-5 contains the Capital
Cost Recovery Table.

FIGURE 2-5 CAPITAL COST RECOVIERY TABLE

Ownership Class of Eixed Asset

Year I 1 I
1 10% 20% 33%
2 18 32 45
3 16 24 22
4 14 16
5 12 8
6 10
7 8
8 6
9 4

10 2

100% 100% 100%

These tables assume that any fixed @sset iis bhought iin die
middle of e year. This iis wilny e ffirst weear'sddqpreadia-
tion is less than the second year’s depreciation. Salvage
value is ignored in all computations and is accounted



for omly wihen realized att diisposal or salle of thwe ansedt.

The Capital Cost Recovery method has particular
advantages for smalll and mediium-sized tusinesses. For
one thing, it is simple. The depreciation periods are
short and the methods for accelerated depreciation and
investment credits have been simplified. Companies
should watch the developments on HR 4646 and be
prepared to take advantage of iiis provisions wien iit iis
passed.

Energy Credits

The crude oil windfalll profiit tax provides for exten-
sion of tine energy aradiits diiscussed athowve. Far miamy
years, Congress has used the tax law as a means to ac-

complish economic and political goals; today’s need for
alternate sources of energy is of ssuthaoneamitedbming me-
tional importance that energy tax credits will probably

change and increase for the next several years, Com-

panies must be aware of tinese cinamges im plamming for
current and future needs and should consult their tax

advisors to determine that they are taking advantage of
all provisions of tinese axatiits.
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CHAPTER 3 -
QUESTIONNAIRE AND CHECKLIST COMMENTS

Warking Capital and Cash Needs
L Do you regularly compute

a. current ratio?
b. quick ratio?

2. Do you compare your ratios with

a. other periods of time?
b. other companies in your industry?

3. Do you determine the validity of yowr ntios
in cash planning?

Speeding up Cash Receipts and Delaying Cash
Disbursements
L. Have you considered

a. Dbilling right after a sale?

b. billing more frequemilly?”

€. impreving the billing format?
2. Have yeu eonsidered giving sales diseounts?
3. Have yeu eonsidered

a. depositing checks immediately?
b. establishing a lockbox system?

4. Do you pay bills only when your vendors ex-
pect payment rather than solely in accordance
with the sales terms?

5. Do you effectiially use bank float?

Short-term Cash Investment

L. Do you know how much cash you need farr
a. the company's obligations?
b: @ safety margin to eover emergeneies?

2. De yeu invest short-term exeess eash?

3. De you understand differances between
U.S§: Treasury obligations?
eertificates of deposit?

obligations of other federsll agencies?
commercial paper?

money market fumds?

a0 TP
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INTRODUCTION

Cash is the most critical asset of @ campany — mest
companies often experience times when there isn’t
enough of it; most companies oftem have times when
there is too much. The purpose of this chapter is to
cover some cash management technigues so that the
company manager can better use cash. Effectine: cash
managerment is discussed by analyzing the componenits
of wrking capital - casth, short-lerm iuastmeants, e-
ceivables, inventeries, and payables - and what the
eempany may de io better manage each. Analytieal re-
view teehnigues relating e eash and werking eapital (as
well as ether aspests 6f AcOMPANY'S BLSIRESS) WEHE il
eluded in Chapter 1. These sheuld be used te aid the
eempany in analyzing its werking eapital and helping te
determine ways te use the ideas here and e iMpreVve its
eash pesitien.

In a recession cash management becomes most diif-
ficult. While the ideas expressed here are particularly
appropriate in these times, their inherent value is time-
less. Each company should adapt and adopt those tech-
niques which are best suited to it and resolve to stick
with them, challenge them, and enhance them
throughout the recession - which the government proj-
ects will be both long and hard - and throughout periods
of growth and prosperity.

WORKING CAPITAL AND CASH NEEDS

Waorking capital has a traditional accounting defiimi-
tion. 1t is the diffetence: tastaam aaanpRany'S QLKA £5-
sets and its current liabilities. A company’s curfent as-
sets are cash and other assets which are expected to be
converted into cash within the longer of its operating
cycle ot one year; current liabilities are those which will
be pald for by using current assets. Of course, A com-
pany goes into and remains in business with the goal of
earning a profit. IttpioMities gaadls s sarias fior appiiee
whieh exceeds their eest. This is net dene instantly and
a company will ge threugh a eentinueus process of sell-
ing and buying goeds 6r services. The Aeme Company
is an example = it sells stationery and effiee: supplies.

Figure 3-1 illustrates the flow of working capital.
Acme purchased inventory for $1,000 and sold the in-
ventory to its customers for $1,300. The customers diid
not pay immediately for tire merchandise and were til-
led on account. Sometime later when the customers pay
Acme, it will again have cash - but now it is $1,300
rather than $1,000; the extra $300 is profit. Thie pxacess
continues from here and hopefully the amount of
money generated by the cycle grows bigger and bigget.

Figure 3-2 shows the period of tiime expiring im tHis
cycle but it illustrates another important concept.

FIGURE 3-1 CASH FLOW AND WORKING CAPITAL

Cash
Rohvisse
of Goods
$1808
Inventory
Payment
$1,300

Sales Accounts
$1,300 Receivable
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FIGURE 3-2 CASH FLOW TIME CYCLE

Short-Term
1-5days| Investments

Cash

30-90 days

Inventory

10-60 days

Accounts

30-180 days Receivable

Cash is generally kept in a demand deposit at a bank
and earns no money unless it is immediately put back
into the working capital flow. Its investment - for
however short a period -~ will earn a return for the
company. That is why Figure 3-2 splits cash into two
components ~ cash which does not earn a retumn and
short-term investments which does. The term short-
term investments here is not confimed exclusively to
stocks and bonds traded on an exchange or other secu-
rities market. The term includes any short-term in-
vestment which earns a return ~ including U.S. gov-
ernment and municipal obligations and interest-
bearing bank deposits.

Working Capital Ratios

There are two working capital ratios that are used in
determining liquidity and cash needs:

¢ Current ratio

® Quick (acid) ratio.

Current ratio is current assets divided by current
liabilities. Figure 3-3 illustrates part of the balance
sheet of the Acme Company.
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FIGURE 3-3 PARTIAL BALANCE SHEET

Current Assets
Cash
Short-term imvestments
Accounts receivable

Inventories

Current Lizlvilities

Accounts payable
Accrued taxes and expenses

Notes payable and current portion
of long-term debt

$ 600,000
1,000,000
900,000
2,500,000

$5,000,000

$2,000,000

400,000
$3,000,000




The current ratio is computed as:

$5,000,000 = 1.67
3,000,000

Current Assets
Current Liabilities

This means that for every $llaffcanreantt ikiblliitss hleees 35
$1.67 of current assets.

The current ratio, however, seldom tells the fulll
story. This is because inventories oftem take much
longer to convert to cash than the period of time the
company has to pay its current liabilities. Because of
this, the quick ratio (also called the acid ratio) may be a
better indication of @ comypany’s liquidity. Quilck @ssets
are defined as cash, shori-teern investments, and ac-
counts receivable - that is, those assets which are pre-
sumed to be convertible into cash quickly. The quick
tatie of Aeme is computed as:

Quick Assets _ $3,000,000
Current Liabilities 3,000,000

This means that for every $lloffcoureant ikibilikides tHbese

is $1 of quick assets - apparently anough to pay off thiee
current liabilities.

100

The Danger Of Ratios

But these ratios do not tell the entire story. Other
matters must be considered. For example, Acme
needs to examine when its assets will be converted into
cash and when its liabilities must be pald. Acme fiinds
that all of the short-terh investments may be con-
verted to cash i the current month and that enly ene-
half of tHheagenittsreacdivailte wiillhe ealbratat); All of
the aceounts payable and acerued taxes and expenses

FIGURE 3-4 CURRENT CASH NEEDS

Current Assets

Cash

Short-term imvestments
Accounts receivable
Inventories

Current Lialvilities

Accounts payable
Accrued taxes and expenses

Notes payable and current portion
of long-term debt

Working Capital

Cash Deficiency

Collectible
or Payable
_ Total This Month
$ 600,000 $ 600,000
1,000,000 1,000,000
1,400,000 700,000
2,000,000
$5,000,000 $2,300,000
$2,000,000 $2,000,000
600,000 600,000
400,000
$3,000,000 $2,600,000
$2,000,000

$300,000
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must be paid in the current month but the notes payable
and current portion of lamg-term dight are mot diue for
120 days. Figure 3-4 illustrates Acme'’s current needs.
While the company has $2,000,000 of wairking capidal
and both a positive current and quick ratio, it just does
not have enough money to meet its current obliga-
tions. It has to take action.

® Borrow money
e Speed up collections

® Put off peeymesnts
e Some combination of these.

The importance of dhiis diiscussion iks dinat @ conmyxamy
manager must be involved in all aspects of cash fllow iin
order to build a foundatiiom for effectiixe cash meanags-
ment. Working capital computations, ratios, even
comparisons to other periods, other companies, and
industry averages are just not enough. The company
manager must dig deeper ~ he must understand what
underlies each of tiis current @ssets and lislbilities and
how they interact.

Understandiing the basic concepts of wwarking capi-
tal is critical to understanding what the company can
do to better manage cash. This is discussed in the rest
of this chapter.

SPEEDING UP CASH RECEIPTS

Once a company understands working capital con-
cepts and how to adequately determine its cash needs,
it should look at its operations to determine how to im-
prove its cash flow. The most obvious place to start is
with the company’s sales, billings and collections
policies. These are the typical separate steps in a com-
pany’s sales cyecle.

e Company receives order from customer

e Company does credit check and authorizes the
sale

Warehouse prepares merchandise

Shipping department ships merchandise
Accounting department prepares bill

Company mails bill

Customer receives bill and sends it through its
own internal process
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e Customer prepares check and mails it
e Company receives check and deposits it
e Company'’s bank clears check

e Company has cash available in its bank.

A company must look at its system, determine the
amount of tiime each of theese seqarete sseqpst tddess, aantl
whether it can improve this. Most companies handle
sales orders expeditiously to the point where the mer-
chandise is shipped to the customer — if a company
didn’t, it would lose sales. However, many companies
do not pay enough attention to controlling the related
paperwork to assure that billings and collections are as
fast as possible.

Billings

Most companies hope that their bills will be paid
within 30 days. In practice most bills are not paid until
approximately 50-60 days after dhe billing date. Speed
is therefiore critically important. A company should:

o Bill as quickly as possible after tthe sdke iis radie.

¢ Bill frequently — do not wait until the end of tthe
month particularty if tie salle is 2 large amownt.

e Make the bill easy to understand ~ determine that
relevant and necessary infoemaiiion such as quan-
tities, styles and style numbers, unit prices, ex-
tenslons, footings are accurate. A bill which is
easy to understand will be processed guicker by
the customet.

® Provide the customer with the means to make
payment easier. A pre-addressed return envelope
is one inexpensive technique oftem used with
small retail or consumer customers.

Sales Discounts

A company should consider adopting sales payment
terms with a cash discount fof quick payment. The
usual terms which many companies with sales dis-
counts have are “2/10, net/30.” This means that if dhe
bill is paid within 10 days, the customer may deduct
2%; if mot, dhe full amount of tietilllilspayaitein 380
days. The company is willing to take 2% less than the



sales amount in exchange for tihe use of themuorsy flor
20 days — this translates to an effectiize iinttarest nate of
36%. However, as already mentioned, most com-
panies take 50-60 days to pay bills regardless of the
sales terms. Therefore a 2% discount for payment
within 10 days will effectial}y give the company the
use of dhe money for 44050 diays wiitthissaneffective
interest rate of A%, THhis iis @ wery competitive rae
today and the company may avall itself of fiuindis aatliids
rate, effeciivalyy borrowing without loan agreements,
compensating balances, restrictive covenants, of any
of dhe Gither wsuiall condikions of aanimstitititandl 160a).

There are some drawbacks to sales discounts which
a company should consider. Sometimes a customer
will take the discount and not pay within the discount
period. The cost of determining that sales discounts
are only taken within the discount period and attempt-
ing to collect unearned discounts from customers as
well as the loss of Qusiomer goodwill wiiich dhese ae-
tions could generate may mitigate the advantage; each
corpany must evaluate its own eireummstances. But
the potential advantages, as diseussed abeve, can be
§6 large that all éempanies shoeuld at least carefullly
eonsider offering; cash diseounts. Do some expet
imenting.

Accelerating Check Clearing

Needless to say, cash receipts should be deposited
immediatelly. The faster they are deposited, the faster
the funds will be available for the company to draw.
Depending on a company's size there are other things
it may do to accelerate check clearing. One of dhese its
to establish a lockbox system. If @ company Gparades
in several areas of dhe country o has sles o different
areas of dihe couniry, i may dilfect itis cusiomers to send
payment to sirategically located post-offfse boxes in
several eities. The cofmpany gives a lecal bank the
autherity to open the box and t6 depesit the funds in
the eompany’s acesunt. Sinee the cheeks are drawn 6h
banks in the same area, they will elear guieker. Wire
transfns ean then be used i transyr funds if:-
mediately where they are needed. A bank eharges a fee
for itls services wilh 21GekboX System but i 2R never-
theless save meney By aceelerating the time it takes for

deposited funds tio e awaikahle and investing e fundis
or reduce borrowings.

It is often msoessary to anzlyze the projected saviings
by area to determine where to have lockboxes. For
example, if the company operates in the Northeast,
Midwest and Northwest, it may consider having lock-
boxes in New Yark, Chicago and Seattle. An analysis
of the haiks' charges andl dhe itierest fiactor on sasell-
erated cash receipts should be done separately for €ach
area. If the company determines that a lockbox will
save meney in New York and Seattle but not in
Chieage, it sheuld fiet have ene in Chicage.

DELAYING CASH DISBURSEMENTS

Delaying cash disbursements is the mirror image of
accelerating cash receipts. Accordingly, it will be dis-
cussed very briefily. Just s Hcoumpamy WS to ransive
cash as quickly as possible, it makes good sense to
delay disbursing cash as much as possible. A company
can do this in two ways:

¢ Delay payment of bills
¢ Use bank float.

Delaying Payment of Bills

As discussed before, although most companies de-
sire payment of thiilllks widiin B0 dtays, mest iills @re mot
paid for 50-60 days. A company should not pay its
bills until it has to. This is dictated by several factoiis:

e Sales terms
e Competitive conditions
¢ Discounts availabble.

Obviously, a company does not want to delay its
bills so long that it risks legal action or the wrath of iits
suppliers. Nevertheless, paying a bill only when it has
to will conserve a company's cash and provide more
earnings. If dhe derms are met 30 diays hut die commcn
practice is to pay in 60, this is the period the vendor
really expects. The company should also consider the
effectt of discounts - if the interest factor for paying
sooner is less than the company’s cost of borrowing, it
should delay payment and not take the discount. On
the other hand, if dihe itderest factor exceeds the com-
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pany’s cost of tomrowing, dnen it makes good sonse to
pay early and take the discount.

Bank Float

Bank floait is the diffetenoee between the amount of
cash a company has and the amount its bank’s records
show it has. A company usually has less cash than the
bank’s records show because at any point in time there
are usually outstanding checks drawn by the company
which have not cleared the bank. By analyzing its float
a company could determine an amount by which it
could consistently overdraw its account without ever
having its bank balanee actually go below zero. But
this is illegal in many states. A company could, how-
ever, draw against its eempensating balanee if it ies &
bank lean witheut vielating the law. A compensating
balanee is an ameunt ef meney a cofmpany agrees to
keep en depesit in a neninteresi-bearing account at a
bank in exeRange for a 1ean ef eredit line = it feec-
tively deereases the ameunt of the Iloan A itsrenses
the effeciimee interest charge. Here i hew this might
werk. Betaphi has a $100,000 eredit line at its bank
whieh it has net berrewed against. The eredit agree-
ment speeifies that Betaphi must have a compensating
balanee oA depsesit 6f $16,000. Betaphi analyzes its
guistanding eheeks and finds that en average ihers is
$5,000 of @ﬁmfn%ab@a@_ And dhis RS AeVeF hisen
gfeatsf than $6,000. Betaphi decides that it can main-
2in 2 £ash Balaneg of $4,000 - this ameunt plus ihe
3meunt 8F 'S MAEMYM SHSARGIRG QeSS &F SE A
will always cgver ifs compensating Balanee apree:
ment. Befaphi is maximizing the use of ks Gash A0 i
13 lBWEHR% IS 1RHEFESE €OSt Because it has the Hse of
$96,068 8F {ts credit 1ine Father than Just $98,668.

A second way a company can use bank float —
coupled again with compensating balance
arrangements - is to draw its checks on out of town
banks. The delay in clearing these checks also affoudis
a company the opportunity to make optimum use of
cash.

SHORT-TERM CASH INVESTMENT

It is important for a company to maintain liquidity.
Cash is needed for basically two reasons:
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¢ To meet a company’s obligations

o To lneve asseffety meaggjin afaonectHeeaanmaumteestiat]
to meet normal obligations to cover emergencies
or unexpected cash needs.

Cash itself, although the most liquid asset, is a
non-earning asset. In fact, in periods of imflation thelld-
ing cash works to a company’s detriment because it
will lose purchasing power and thus buy less. A com-
pany should invest its surplus cash - the amount above
what's needed to cover normal obligations plus a
safety amount. Investing surplus cash will provide a
return whieh is net available by leaving the meney if a
checking demand deposit. A company must be very
carefull te invest enly in investiments whieh can be
guickly eonveried back inte eash if it needs guiek
availability and have minimal risk ef depreeiating.
Ameng the shert-term investments a eempany sheuld
eensider are:

e U.S. Treasury obligations. These are probably
the safest. Treasury bills, which sell at a discount,
have 3-month, 6-month, 9-month, or I-year ma-
turity and are tradeable on the open market. They
are easy to purchase in denominations of
$16,000.

o Certificates of deposit. These are megotiable
interest-bearing obligations of commercial
banks. They usually mature in periods of wyp do 1
year. Most certificalies are issued by very large
commercial banks and risk of loss is minimal.
However, because there is some fisk, the interest
is usually higher than is paid on U.S. Treasury ob-
ligations. Denominations available vary and are
sometimes very high often making fhe inuastiment
impractieal for most companies.

e QObligations of other Federal agencies. Federal
agencies such as the Governmeat Mortgage
Association, Federal National Mortgage Associa-
tion and Federal Home Loan Bank issue securi-
ties. These are not guaranteed by the U.S. Trea-
sury and the interest rate is usually a little higher.
They are, however, very safe investments.

e Commercial paper. Commercial paper is debt is-
sued by corporations for a short period of time.



Maturities are usually less than 1 year. The in- SUMMARY

strument is not secured and because of tiis amily . . .
the most successfull corporations can market it. Cash management is the first step in a program to
Accordingly, it is a very safe investment. The combat recession and inflation. We believe an efffee-

interest rate is also a little higher than U.S. Trea- tive program has these basic elements:

sury obligations. Denominations usually start at e Understanding and planning working capital and
$100,000 but can be as low as $25,000. cash needs

e Money market funds. These have become very ® Speeding up cash receipts
popular in recent years. Money market funds are ¢ Delaying cash diisbursements
available in very low denominations ~ as low as e Careful investment of cash to preserve its value
$1,000 ~ and are therefoie very attractive to a and maximize earnings.

smaller company. Money market funds are
usually a combination of U.S. Trecasury and other
government obligations, certificaies of deposit
and commercial paper. The fund, which is man-
aged by professionals,, buys these investments in
large quantities and is able to sell small pieces 6
eempanies and individuals. The fund may chaige
a siall serviee eharge but the yield to the investor
is still usually higher than fer U.S. gevernment
ebligations. Beeause it is managed by profRss-
sienals, the individual invester dees net have t8
werry abeut making investment deeisisns. The
investment, altheugh net guaranteed, is ve
safe. Ofidn the invester i able t8 write a ehee
against the fund and this is an added advaniage
Beeause the investment eentinues te ear inierest
HRtil the eheek is presented for pAYmERT. SEVEFal
Business publications periedicatly publish lists of
MBARY market funds and informatism abeut fHeir
poriYR heldings, and eurrent yield:
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CHAPTER 4 -

INFLATION ACCOUNTING Besides the work which a company manager must do to
cut costs to effectiixal{y manage, he must also provide
for effective flinandil regpotiing. Hfteiive fifinaotakrae-
porting aids effectiivee management. Conventional fii-

One final @rea must te covered briefly — inflktion ae- nanclal reporting is not enough in today’s econormy - it
counting. As the Executive Summary states, today's must be supplemented by reporting that considers the
economy has a dual problem — recession with inflatiom. effectss of iwflation.

FIGURE 4-1 INFLATION ADJUSTED FINANCIAL STATEMENTS

BALANCE SHEET
Assets Inflation Liabilities Inflation
Historical Accounting Historical Accounting
Cost Adjusted Cost Adjusted
Current Assets: Current Liabilities;
Cash $ 50,000 $ 50,000 Notes payable $ 70,000 $ 70,000
Accounts receivable 100,000 100,000 Accounts payable 110,000 11@,000
Inventories 90,000 140,000 180,000 180,000
240,000 290,000
Long term debt 1,000,000 1,000,000
Propeitty, plant and Stockholdets equity 260,000 610,000
equipment 1,200,000 1,500,000
$1,440,000 $1,790,000 $1,440,000 $1,790,000

INCOME STATEMENT

Inflation
Historical Accounting
Cost Adjusted
Net Sales $5,000,000 $5,000,000
Cost of Sales 3,800,000 4,100,000
Selling general
and administrative 600,000 600,000
Depreciation 100,000 150,000
4,500,000 4,850,000
Income befote taxes 500,000 150,000
Provision for taxes 250,000 250,000
Net income (loss) $ 250,000 $ (180,000)

52



] Iﬂﬂm A‘A@Mﬂgng_

WHAT YOU SHOULD DO

We believe all companies should have inflatiom fii-
nancial informatiem available internally to judge how
much “real” profiis they are making. Even if a com-
pany does not choose to comply with SFAS 33 for ex-
ternal reporting ~ and we believe its requirements are
cumbersome for most small and medium sized com-
paniles - it still needs inflation accounting information.
We suggest the followiing basie concepts:

o Stop thinking in terms of ttee Camsunear Priige In-
dex. It is rare that an individual company’s particu-
lar circumstances will track the CPI. Start thinking
about how inflatiom is affectiitg your particular

company.

e Use the LIFO method of iimwemtory. Itiksmuatt andly &
good tax method, it makes sense from amn oot
ing and economic point of wiew. Much of ttatigy's
“record profits™ are caused because cost of salles iis
lower than the inventory replacement cost. The
company must pay more for mew imventory to stay
in business. Using LIFO, the cost of sakes appmox-
imates replacement cost.

o If depreciation is significant in the financial
statements, it should be adjusted for what depre-
ciation would be if tie fiixed @ssefs were rgplacad
today at current cost. In other words, if die Hiisiorii-
cal cost of flixed @ssefs its $I 000,000 and dhey e
belng depreciated over a weighted average life of
20 years, depteciation expense will be $50,000 per
yeat. However, if itt wswlldl cost $3,000,000 o -
place these fixed assets, depreciation would be
$150,000 per year - $100,000 mere. Remmember,
fixed assets do wear eut and the eefipany eannet
stay iR business unless they are replaced. Depre-
eiation based en replacement eost is a better indie-
atien of the effecs of iwfilatien.

A company should always adjust its historical finam-
cial statements for inflation’s effegit on inventory and
depreciation. This is vital for internal financiall
statements on which day-to-day decisions are made.
Figure 4-1 illustrates the application of diese thasic puriug-
ciples.

SFAS 33

The Financial Accounting Standards Board, the ac-
counting profession rule-making body, issued State-
ment of Fimancial Acoounting Standiards Niw. B3 (SFAS
33), Financial Reporting aaaalCBhagiripdP Heoesinitatate
1979. SFAS 33 requires large publicly held companies
to publish supplementafy financiall informaliion show-
ing the effedss of inflation. It encourages other com-
panies to follow its provisions. Touche Ross has written
and published Financial Repo¥iing and Changiig
Priees - A Guide do mplomening FESSB:Haiamess 33.
This guide, which is available from &y louche Ross of-
fice o reguiest, diiscusses dhe reguirements of STASS3H
and gives detailed examples for eomplianee.

53



	University of Mississippi
	eGrove
	1-1-1980

	Survival basics in the recession economy
	Touche Ross & Co
	Recommended Citation


	tmp.1562181125.pdf.tNDUy

